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Q1. Group of monuments in Mahabalipuram, Tamil Nadu were constructed by the ________ 

kings. 

A. Chalukya B. Pallava 

C. Pandya D. Chola 

Q1. $/?ल(?!I �O  ?B?-लI+I0? ?े䜂 }??0�ो䬂 �O  A?ूB �? )(???# ________ 0?�?�� (O ��/? %?। 

A. �?लI]/ B. +ल㉍ल= 

C. +
ड⅍/? D. �Kल 

 

Q2. Which of the following schemes allows a person, who had been an Indian citizen, to 
hold dual citizenship? 

A. Overseas Citizen of India (OCI) B. Person of Indian Origin (PIO) 

C. Non-Resident of India (NRI) D. Non-Resident Ordinary (NRO) 

Q2. )(o(/ल�?$ ?े䜂 AO �L( AI /K�(?, �� }/]-$ �K, �K �� .?0$I/ (?�90� %?, &KB0I (?�90�$? 0?(O �I 
(I?)$ &O$I 
BP? 

A. �=09Iज᰼ स9�I�0 �फ⬼ �
)ि/? (� 9I ��) B. +990 �फ⬼ �
)ि/0 �90��0 (+I �� �) 

C. 0I0-0O��िे䜂� �फ⬼ �
)ि/? (�0 �0 ��) D. 0I0-0O��िे䜂� �)ि900I (�0 �0 �) 

 

Q3. Mettur dam is in __________. 

A. Kerala B. Karnataka 

C. Tamil Nadu D. Andhra Pradesh 

Q3. ?O्ू䴾0 -?�' __________ ?े䜂 BP। 

A. �O 0ल B. �0?9�� 

C. ,स?ल 0?िI  D. �
� �.O> 

 

Q4. The _____ schedule of the Indian Constitution has the list of States and Union 
Territories. 

A. Twelfth B. First 

C. Third D. Seventh 
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Q4. .?0$I/ A�=?'?( �I _____ 
(IAू�I ?े䜂 0?जᱍ/ो䬂 �0 �े䜂 ्䵖 ??/A$ ्䵚&O?ो䬂 �I Aू�I BP। 

A. -?0:=I
 B. +:लI 

C. ,I90I D. 9?,=I
 
 

Q5. In historical period, Haryana was situated on the banks of which river? 

A. Saraswati B. Yamuna 

C. Ganga D. Godavari 

Q5. �)$B?/A� �?ल ?े䜂, B90/?#? ��A (&I �O  $� +0 ]}%$ %?? 

A. 90}=,I B. /?I0? 

C. �
�? D. �K.?=0I 
 

Q6. Who amongst the following was arrested for taking part in 'Quit India Movement'? 

A. Rao Gopal Dev B. Chaudhary Devi Lal 

C. Sir Chotu Ram D. Pandit Neki Ram 

Q6. '.?0$ �Kडो䬂 ��&Kल(' ?े䜂 .?� लO(O �O  /ल� )(o(/ल�?$ ?े䜂 AO ��AO ��0o$?0 ��/? �/? %?? 

A. 0?= �K+?ल .O= B. �L/0I .O=I ल?ल 

C. 90 �K�ू 0?? D. +
)ि, 0O�I 0?? 

 

Q7. Indian National Congress (INC) was formed in ______. 

A. 1805 B. 1855 

C. 1885 D. 1875 

Q7. .?0$I/ 0?�रI/ �?�्䵇OA (INC) �? � ( ______ ?े䜂 ��/? �/? %?। 

A. 1805 B. 1855 

C. 1885 D. 1875 

 

Q8. Where is Maharshi Dayanand Vishwavidhyalaya established? 

A. Sirsa B. Rohtak 

C. Sonepat D. Gurugram 
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Q8. ?B=@? &/?(�& =?�?=?द♍/?ल/ �I }%?+(? �B?� �I �� BP? 

A. स909? B. 0K:,� 

C. 9K0I+, D. �Iy्䵇?? 

 

Q9. 2017 Surajkund Mela is known as __________ because all stakeholders have been 

provided option for cashless transaction. 

A. Suraj Mela B. Cashless Mela 

C. Kund Mela D. Crafting Mela 

Q9. 2017 Aू0��I� ! ?Oल? �K __________ �O  (?? AO �?(? �?$? BP -/ो䬂�� A.I 9B$'?0�ो䬂 �K (�& 09B$ लO(&O( �0(O 
=?�ल㉍+ ्䵚&?( ��/? �/? BP। 

A. 90ू� ?Oल? B. �P >लO9 ?Oल? 

C. �I
 ि ?Oल? D. ्䵅?�M�
� ?Oल? 
 

Q10. Haryana has invited all Facebook and Twitter users to interact with the 

____________. 

A. Chief Minister of Haryana B. Governor of Haryana 

C. DSP of Haryana D. Chief of Cyber Cell 

Q10. B90/?#? (O A.I ,O A-I� �0 टὍ=?�0 /ू�A? �K ____________ �O  A?% -?$�I$ �0(O �O  /ल� �?�}ि$ ��/? BP। 

A. :90/?+? �O  ?I_/?
्䵔I B. :90/?+? �O  0?जᱍ/+?ल 

C. :90/?+? �O  िI.�9.+I D. 9?�-0 9Oल �O  �?I� 

 

Q11. Haryana government bans consumption of ________ at public places. 

A. Cigarette B. Tea 

C. Liquor D. Coffee 

Q11. B90/?#? A0�?0 (O A???�)(� }%?(ो䬂 +0 ________ +I(O +0 ्䵚)$-�' ल�? 9&/? BP। 

A. स9�0O� B. �?/ 

C. >0?- D. �Iफ⬼I 
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Q12. "Pradhan Mantri Suraksha Bima Yojana" implemented by Haryana Government gives 

insurance cover to residents in the age group of ___________. 

A. 21-70 years B. 21-65 years 

C. 18-60 years D. 18-70 years 

Q12. B90/?#? A0�?0 द♍??0? ल?�ू "्䵚'?( ?�िI AI0�? -I?? /K�(?" ________ �I �/I ?�? �O  )(??/A/ो䬂 �K -I?? �?0 ्䵚&?( 

�0$I BP। 

A. 21-70 =}9 B. 21-65 =}9 

C. 18-60 =}9 D. 18-70 =}9 
 

Q13. The Chief Minister of Haryana has launched the ________ mobile application to 
provide information about 250 schemes and programs of 30 different departments. 

A. e-mitra B. e-sewa 

C. e-program D. e-development 

Q13. B90/?#? �O  ?I_/?�िI (O 30 =?/.m( =?.?�ो䬂 �I 250 /K�(?�� �0 �?/?्䵅?ो䬂 �O  -?0O ?े䜂 �?(�?0I &O(O �O  /ल� _____ 

?K-?�ल �];ल�O ?( लIm� ��/? BP। 

A. � -स?्䵔 B. �-9O=? 

C. �-�K्䵇?? D. �-िO=ल+?े䜂� 
 

Q14. Which two organizations will jointly inspect the oldest civilization site in Fatehabad 

district of Haryana? 

A. Central Bureau of Investigation (CBI) and 

Historical Department 

B. Archaeological Department and Historical 

Department 

C. Central Bureau of Investigation (CBI) and 

Indian Space Research Organization (ISRO) 

D. National Aeronautics and Space Administration 

(NASA) and Indian Space Research Organization 

(ISRO) 

Q14. �L( AO &K A�� ( A�/I-$ z+ AO B90/?#? �O  ,$OB?-?& ]�लO ?े䜂 A-AO +I0?(I Am/$? �I A?�� �? )(0I�# �0े䜂�O? 

A. �े䜂 �I/ �?
� m/0ूK (9I -I ��) �0 �-,:?स9� ==.?� B. +I0?,m= ==.?� �0 �-,:?स9� ==.?� 

C. �े䜂 �I/ �?
� m/0ूK (9I -I ��) �0 .?0,I/ 

,90्䵌 


0I9
/?0 9
� 0 (�90K) 
D. 0?�रI/ �/0K0I��]9 �
ि }+O9 �िस?-0}रO>0 (0?9?) �0 
.?0,I/ 

,90्䵌 
0I9
/?0 9
� 0 (�90K) 
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Q15. Who amongst the following has contributed to Haryanvi comic poetry? 

A. Baje Bhagat B. Surendra Sharma 

C. Rajiv Lather D. Ali Baksh 

Q15. )(o(/ल�?$ ?े䜂 AO ��A(O B90/?#?I B?}/ �=?$? ?े䜂 
+(? /K�&?( 9&/? BP? 

A. -?�O .�, B. 9I0े䜂� >??9 

C. 0?�I= ल?-O0 D. 
लI -_> 

 

Q16. Majjhima Nikaya and Divyavadana are ___________ literature. 

A. Buddhist B. Hindu 

C. Sufi D. Islamic 

Q16. ??]जᱍि?? )(�/? �0 9&}/?&(? ___________ A?9Bm/ Bै䠂। 

A. -L्䵍 B. �:
. ू

C. 9,ूI D. �}ल??I 
 

Q17. Which award did Ashok Bhatia get for his book 'Samudra ka Sansar'? 

A. Haryana Literature Award B. Sahitya Award 

C. National Literature Award D. Haryana Hindi Sahitya Academy Award 

Q17. 
?K� .?9�/? �K 
+(I +I}$� 'A?I्䵖 �? A�A?0' �O  /ल� �L( A? +I0}�?0 /?ल?? 

A. :90/?+? 9?�:m/ +I0}�?0 B. 9?�:m/ +I0}�?0 

C. 0?�रI/ 9?�:m/ +I0}�?0 D. :90/?+? �:
.I 9?�:m/ 
�?.?I +I0}�?0 
 

Q18. Hemraj Nirgam wrote ___________. 

A. Pachrangi B. Prithviraj Raso 

C. Seep Ka Moti D. Jadufiri 

Q18. ___________ BO?0?� )(�?? (O /ल?? BP। 

A. +�0
�I B. +mृ=I0?� 0?9K 

C. 9I+ �? ?K,I D. �?िू+,0I 
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Q19. Which is the smallest district of Haryana in terms of area? 

A. Panchkula B. Bhiwani 

C. Ambala D. Gurgaon 

Q19. �Oि,ल �I द♃]�� AO B90/?#? �? A-AO �K�? ]�ल? �L( A? BP? 

A. +
��I ल? B. स.=?0I 

C. 
o-?ल? D. �I=�?
= 

 

Q20. Which of these minerals is NOT found in Haryana? 

A. Tungsten B. Limestone 

C. Manganese D. Slate 

Q20. B90/?#? ?े䜂 �(?े䜂 AO �L( A? ?)(� +?/? �?$? BP? 

A. �
�}�0 B. �ू0? +m-0 

C. ?ै䠂�0I� D. }लO� 
 

Q21. The most popular irrigation system in Haryana is __________. 

A. Tube well irrigation B. Tank Water irrigation 

C. Inundation Irrigation D. Canal irrigation 

Q21. __________ B90/?#? �I A-AO लK�=्䵚/ /A��?� ्䵚#?लI BP। 

A. टὍ/-ू =Oल 9O स9
�?� B. �
�I �O  �ल 9O स9
�?� 

C. �oल?=0 स9
�?� D. 0:0 स9
�?� 
 

Q22. Sahibi river originates in which of the following districts? 

A. Rohtak B. Sirsa 

C. Sikar D. Yamunanagar 

Q22. A?9B-I (&I )(o(/ल�?$ ?े䜂 AO ��A ]�लO AO )(�ल$I BP? 

A. 0K:,� B. स909? 

C. स9�?0 D. /?I0?0�0 
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Q23. Which dam is based on hydraulic engineering and is known as Gravity Dam? 

A. Damdama Lake B. Badkhal lake 

C. Hathnikund D. Anagpur Dam 

Q23. �L( A? -?�' B?�्䵑K/ल� ���I)(/90�� +0 �'?90$ BP �0 ्䵇O=?�I !P? �O  (?? AO �?(? �?$? BP? 

A. .?.?? �Iल B. -.�ल �Iल 

C. :-0I�I
 ि D. 
0�+I0 -?
/ 

 

Q24. Indian constitution came into force on ___________. 

A. 15th August 1950 B. 26th January 1947 

C. 26th January 1950 D. 15th August 1947 

Q24. .?0$I/ A�=?'?( ___________ �K ल?�ू BI� %?। 

A. 15 
�}, 1950 B. 26 �0=0I 1947 

C. 26 �0=0I 1950 D. 15 
�}, 1947 

 

Q25. Which state of Indian Union has a separate constitution? 

A. Haryana B. Jammu and Kashmir 

C. Kerala D. Sikkim 

Q25. .?0$I/ A�  �I ��A 0?जᱍ/ ?े䜂 �� 
ल� A�=?'?( BP? 

A. :90/?+? B. �o?ू �0 ��?I0 

C. �O 0ल D. स9�]�? 

 

Q26. Who is the Leader of Opposition in the Haryana Assembly? 

A. Shri Ajay Chautala B. Shri Charanjeet Singh Rori 

C. Shri Dushyant Chautala D. Shri Abhay Singh Chautala 

Q26. B90/?#? =?'?(A.? ?े䜂 =?+� �O  (O$? �L( Bै䠂? 

A. ्䵦I 
�/ �L�?ल? B. ्䵦I �0+�I, स9
: 0K0I 

C. ्䵦I .I�/
, �L�?ल? D. ्䵦I 
./ स9
: �L�?ल? 
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Q27. What is the average temperature of Haryana in summers? 

A. 30oC B. 35oC 

C. 40oC D. 38oC 

Q27. ्䵇I�? �$I ?े䜂 B90/?#? �? �A$ $?+??( ��$(? BK$? BP? 

A. 30oC B. 35oC 

C. 40oC D. 38oC 

 

Q28. Which is the most cultivated spice in Haryana? 

A. Coriander B. Garlic 

C. Fenugreek D. Chilli 

Q28. B90/?#? ?े䜂 A-AO 
�'� ��A ?A?लO �I ?O$I BK$I BP? 

A. /-0/? B. ल:9I0 

C. ?े䜂-I D. स?�9 
 

Q29. What is the famous name of Murrah buffalo in Haryana? 

A. Black Gold B. Kala Dhan 

C. Gold Carat D. Kala Prashadan 

Q29. B90/?#? ?े䜂 ?I0?? .ै䠂A �? ्䵚/Ap (?? -/? BP? 

A. �?ल? 9K0? B. �ल? /0 

C. �Kल㉍ि �P 0O� D. �?ल? �>?.0 

 

Q30. Pick the odd one out: 
 

Eyes, Ears, Tongue, Nose, Mouth 

A. Tongue B. Eyes 

C. Nose D. Mouth 
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Q30. 
A��$ �? �/( �0े䜂। 
 

��?े䜂, �?(, �I., (?�, ?I�B 

A. �I. B. �
�े䜂 

C. 0?� D. ?I
: 
 

Q31. Find the analogy. 
 
CEGI: DFHJ::EGIK: ? 

A. FHJL B. HJLM 

C. IGHJ D. HGIJ 

Q31. A??($? "ू�"े䜂। 
 
CEGI: DFHJ::EGIK: ? 

A. FHJL B. HJLM 

C. IGHJ D. HGIJ 

 

Q32. What should come at the place of question mark (?) in the following number series? 
5, 11, 23, 43, ?, 115 

A. 68 B. 73 

C. 85 D. 97 

Q32. )(o(/ल�?$ A�_/? श㙍र�?ल? ?े䜂 ्䵚�( ��}( (?) �O  }%?( +0 -/? BK(? �?9B�?  

5, 11, 23, 43, ?, 115 

A. 68 B. 73 

C. 85 D. 97 

 

Q33. If in a coding scheme, NINE is written as 42, how TEN is coded? 

A. 24 B. 36 

C. 40 D. 39 

Q33. �� �K! .?@? ?े䜂 /9& NINE �K 42 /ल?? �?$? BP $K TEN �K -/? /ल?? �?��?? 

A. 24 B. 36 

C. 40 D. 39 
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Q34.  

A. 12/2 B. 13/2 

C. 14/2 D. 15/2 

Q34.  

A. 12/2 B. 13/2 

C. 14/2 D. 15/2 

 

Q35. An event has a probability of 24/25. Therefore, the event is ________________. 

A. cannot occur B. likely to occur 

C. less likely to occur D. will always occur 

Q35. ��  �(? �O   �(O �I A�.??(? 24/25 BP। �A/ल�,  �(? ________________। 

A. 0:I
  � 9�,I :P B.  � 9�,I :P 

C.  �0O �I �? 9
.?=0? :P D. :?O>?  �O�I 
 

Q36. 0.00098 = _____________% 

A. 0.098 B. 0.98 

C. 1.98 D. 1.098 

Q36. 0.00098 = _____________% 

A. 0.098 B. 0.98 

C. 1.98 D. 1.098 

 

Q37. Deepa bought 2 dozen pencils for Rs.100. She distributed 10 pencils. She sold the 

remaining pencils for a loss of Rs.5. At what price did she sell each pencil? 

A. Rs. 6.78 B. Rs. 5.25 

C. Rs. 8.45 D. Rs. 7.50 

Q37. &I+? (O 100 y+/O ?े䜂 2 &�?( +े䜂/Aले䜂 ?0I&I। �A(O 10 +े䜂/Aले䜂 -??� &I। �A(O -?�I +े䜂/Aलो䬂 �K 5 y+/O �O  (I�A?( ?े䜂 -O� 

9&/?। �A(O ्䵚m/O� +े䜂/Aल �K ��$(O ?े䜂 -O�?? 

A. 6.78 y+/O B. 5.25 y+/O 

C. 8.45 y+/O D. 7.50 y+/O 
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Q38. __________ is the synonym of "DETERMINED". 

A. Kind B. Brave 

C. Firm D. Angry 

 

Q39. __________ is the antonym of "BENEFIT". 

A. Gain B. Loss 

C. Help D. Favour 

 

Q40. Identify the meaning of the idiom. 
"By hook or by crook." 

A. Without permission B. Stolen 

C. Acceptance D. By fair or foul means 

 

Q41. Sentence given below may contain one or more mistakes. Identify the correct 

sentence. 

"The team complete their task just when the judge walked in." 

A. The team was completed with their task when 

the judge walked in. 

B. The team completed their task just when the 

judge walked in. 

C. The team have completed their task when the 

judge walks in. 

D. The team has completed their task while the 

judge walked in. 

 

Q42. Complete the sentence by choosing the correct word from the options. 
The army ___________ the attempt of the invaders. 

A. foiled B. promoted 

C. continued D. closed 

 

Q43. Which of the following is not emitted by radioactive substances? 

A. Beta rays B. Gamma rays 

C. Incident rays D. Alpha rays 

Q43. 0O)!/K'?ी +&?%ो䬂 AO -/? (BI� )(�ल$I Bै䠂? 

A. -I�? +�0+े䜂 B. �??? +�0+े䜂 

C. �+-,, +�0+े䜂 D. 
ल㉍,? +�0+े䜂 
 

www.mseducationtv.com



 

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies  

Department, Haryana) 

 Morning Session 

 

September 15, 2017  Page 12 of 27 

 

Q44. The mixture of sand and water can be separated by the process of __________. 

A. Evaporation B. Condensation 

C. Filtration D. Precipitation 

Q44. -?ल ू�0 +?(I �O  /?श㙍# �K __________ �I ्䵚�्䵅/? द♍??0? 
ल� ��/? �? A�$? BP। 

A. =?�+I�0+ B. 9
 00 

C. -0}+
.0 D. =}9+ 

 

Q45. Human cell consists of _________ chromosomes. 

A. 44 B. 46 

C. 22 D. 23 

Q45. ??(? �K/?�? ?े䜂 _________ ्䵅K?KAK? BK$O Bै䠂। 

A. 44 B. 46 

C. 22 D. 23 

 

Q46. )(o( ?m& �? +/??/??�I ?m& -$?�/े䜂 | 

 

&+?# 

A. ��0? B. >0?90 

C. >?/0 D. �.� 

 

Q47. )(o( ?m& �? =?+0I$ (=?लK?) 
%? -$?�/े䜂 | 

 

 र#? 

A. 9o??0 B. +I0}�?0 

C. :I0.?=0? D. �O? 
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Q48. (I�O /ल?O ?IB??0O �? ���$ 
%? -$?/े䜂 | 

 

�?(K �?( ?-0 ( BK(? 

A. �?0 ,� -?, 0 +:I�	0? B. +�9I �K .0� ,� 0 +=0? 

C. 9?� ?O 0 �0? D. -:0? :K0? 
 

Q49. (I�O /ल?O ?m& �? -BI?�( -(?/े䜂| 

 

)$$लI 

A. -,,सल/? B. -,,लI/?	 

C. -,,सल/K D. -,,सल/?	 
 

Q50. (I�O /ल?O ?m& �? ��?�( -(?/े䜂| 

 

�?}-/?? 

A. �?-- B. �?-I/? 

C. �?--/? D. �?-I 
 

Q51. Fundamental accounting assumption is _________ . 

A. Materiality B. Business entity 

C. Going concern D. Dual aspect 

Q51. �'?0.ू$ लO??��( 
?'?0#? ________ BP । 

A. .L-,�,? B. �?0K-?0I }=m= 

C. 9+्䵅/ �0 ल?.�. }/=9?/ D. .K +:लू 
 

Q52. A company cannot issue redeemable preference shares for a period exceeding 

___________ . 

A. 6 years B. 7 years 

C. 20 years D. 25 years 
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Q52. �� �� +(I _________ AO 
�'� 
?�' �O  /ल� ्䵚)$&O/ 
�'??( ?O/0 �?0I (BI� �0 A�$I । 

A. 6 =}9 B. 7 =}9 

C. 20 =}9 D. 25 =}9 
 

Q53. Which of the following is not a sub-field of accounting? 

A. Management accounting B. Cost accounting 

C. Financial accounting D. Book-keeping 

Q53. �(?े䜂 AO �L( A? =?�ल㉍+ लO??��( �? �+-�Oि (BI� BP? 

A. �-
/0 लO�?
�0 B. ल?�, लO�?
�0 

C. ==m,I/ लO�?
�0 D. +I},+?ल0 

 

Q54. Cash from operations is equal to _________. 

A. Net profit plus increase in outstanding 

expenses 

B. Net profit plus increase in debtors 

C. Net profit plus increase in stock D. Net profit plus increase in investments 

Q54. ्䵚�?ल(ो䬂 AO (�&I ________ �O  A??( BP । 

A. -0=ल ल?. ,-? -�?/? }//ो䬂 ?े䜂 -+K,0I B. -0=ल ल?. ,-? .O0.?0ो䬂 ?े䜂 -+K,0I 

C. -0=ल ल?. ,-? }�I� ?े䜂 -+K,0I D. -0=ल ल?. ,-? -0=O> ?े䜂 -+K,0I 
 

Q55. If cost of goods sold is Rs.80,700, opening stock is Rs.5,800 and closing stock is 
Rs.6000, then the amount of purchase will be _________. 

A. Rs.80,500 B. Rs.74,900 

C. Rs.74,700 D. Rs.80,900 

Q55. /9& -O�O �� ??ल �I ल?�$ y. 80,700, ्䵚?0�/.� }�I� y. 5,800 �0 
�)$? }�I� y. 6000 BP, $K ्䵅/ �I 0?/? 

_______ BK�I । 

A. y.80,500 B. y.74,900 

C. y.74,700 D. y.80,900 
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Q56. W Ltd. issued 20,000, 8% debentures of Rs.10 each at par, which are redeemable 

after 5 years at a premium of 20%. The amount of loss on redemption of debentures to be 
written off every year will be _______. 

A. Rs. 40,000 B. Rs.10,000 

C. Rs.20,000 D. Rs.8,000 

Q56. W /ल/?�O! (O 10 y+/O �O  A??ूल㉍/ +0 20,000, 8% )!-े䜂�A? �?0I ���, �K 20% ्䵚I/?/? +0 5 ?@ो䬂 �O  -?& 
्䵚)$&O/ Bै䠂 । )!-े䜂�0ो䬂 ्䵚)$&O/ +0 B?)( �I 0?/? �K ्䵚m/O� ?@? -्䴾O ??$O ?े䜂 !?लI �?��I, _______ BK�I । 

A. y.40,000 B. y.10,000 

C. y.20,000 D. y.8,000 

 

Q57. A company forfeited 2,000 shares of Rs.10 each (which were issued at par) held by 
Mr. John for non-payment of allotment money of Rs.4 per share. The called-up value per 
share was Rs.9. On forfeiture, the amount debited to share capital will be _______. 

A. Rs.10,000 B. Rs.8,000 

C. Rs.2,000 D. Rs.18,000 

Q57. �� �� +(I (O y. 4 ्䵚)$ ?O/0 �I �-��( 0?/? �? .I�$?( ( �0(O �O  /ल� श㙍I??( �I( द♍??0? '?90$ y. 10 ्䵚m/O� (]�mBे䜂 
A??ूल㉍/ +0 �?0I ��/? �/? %?) �O  2,000 ?O/0ो䬂 �K A?+्䵩$ �0 /ल/? । ्䵚)$ ?O/0 ??��? �/? ?ूल㉍/ y. 9 %? । A?+B0# +0, 
?O/0 +ू?�I �K (??O �I 0?/? _______ BK�I । 

A. y.10,000 B. y.8,000 

C. y.2,000 D. y.18,000 

 

Q58. Bank reconciliation statement is prepared with the help of ________. 

A. Bank statement B. Bank statement and bank column of the cash 

book 

C. Bank statement and cash column of the cash 

book 

D. Bank column of the cash book and cash column 

of the cash book 

Q58. -ै䠂� A??'?( =??0# _________ �I ?&& AO $P/?0 ��/? �?$? BP । 

A. -ै䠂� ===0+ B. -ै䠂� ===0+ ,-? 0K�= -:I �? -ै䠂� �Iल? 

C. -ै䠂� ===0+ ,-? 0K�= -:I �? 0K�= �Iल? D. 0K�= -:I �? -ै䠂� �Iल? ,-? 0K�= -:I �? 0K�= �Iल? 

 
 
 
 

www.mseducationtv.com



 

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies  

Department, Haryana) 

 Morning Session 

 

September 15, 2017  Page 16 of 27 

 

Q59. In fire insurance ______% of premium income is carried forward as provision for and 

the balance is transferred to profit and loss account. 

A. 50 B. 100 

C. 25 D. 0 

Q59. 
])( -I?? ?े䜂 ्䵚I/?/? �/ �? _____% ्䵚??'?( �O  /ल� ��O लO �?/? �?$? BP �0 ?O@ �K ल?. ? B?)( ??$O ?े䜂 

�$90$ ��/? �?$? BP । 

A. 50 B. 100 

C. 25 D. 0 

 

Q60. Accounting standards in India are issued by _________. 

A. Central Government B. State Government 

C. Institute of Chartered Accountants of India D. Reserve Bank of India 

Q60. .?0$ ?े䜂 लO?? ??(� ______ द♍??0? �?0I ��� �?$O Bै䠂 । 

A. �O o�I/ 90�?0 B. 0?जᱍ/ 90�?0 

C. .?0,I/ 90.I लO�?�?0 9
}-?0 D. .?0,I/ 90ज᰼=9 -ै䠂� 

 

Q61. Which of the following categories is included in generally accepted auditing 
standards? 

A. Standards of review B. Standards of planning 

C. Standards of evidence D. Standards of field work 

Q61. A???m/$: }?I�र $ लO?? +0I�? ??(�ो䬂 ?े䜂 �(?े䜂 AO ��A ?�? �K ??/?ल ��/? �?$? BP? 

A. 9?I्䵌? �O  ??0� B. /K�0? �O  ??0� 

C. 9?ቌ䲚/ �O  ??0� D. ्䵌O्䵔 �?/9 �O  ??0� 

 

Q62. Which of the following is an inherent limitation in internal control? 

A. Incompatible duties B. Lack of an audit committee 

C. Lack of segregation of duties D. Faulty human judgement 

Q62. �(?े䜂 AO �L( A? =?�ल㉍+ ��$90� )(/�ि# ?े䜂 �� 
�$)(?9B$ +90AI?( BP? 

A. 
9
�, �,9}/ B. लO�? +0I्䵌? 9स?-, �? 
.?= 

C. �,9}/ो䬂 �O  +-ृ]�0+ �? 
.?= D. .K}++ू9 ??0=I/ -0+9/ 
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Q63. If the amount is posted in the wrong account or it is written on the wrong side of the 

account, it is called _______. 

A. Error of omission B. Error of commission 

C. Error of principle D. Compensating error 

Q63. /9& ��AI 0?/? �K �ल$ ??$O ?े䜂 !?ल 9&/? �?$? BP /? �AO लO?O �O  �ल$ +� ?े䜂 /ल?? �?$? BP, $K �AO _______ �B$O Bै䠂 
। 

A. ��ू-्䵔I�� B. �?I>0 �I ्䵔I�� 

C. स9्䵍?
, �I ्䵔I�� D. �-,+0ू� ्䵔I�� 
 

Q64. An auditors engagement letter most likely would include a statement that _______. 

A. Lists potential significant deficiencies 

discovered during the prior year's audit 

B. Explain the analytical procedures that the 

auditor expects to apply 

C. Describes the auditors responsibility to 

evaluate going concern issue 

D. Limits the auditor's responsibility to detect 

errors and fraud 

Q64. �� लO?? +0I�� �O  )(/K�( +ि ?े䜂 �A �%( �O  ??/?ल ��� �?(O �I A�.??(? 
�'� BK�I �� ______। 

A. +=ू9 �O  =}9 �I लO�? +0I्䵌? �O  .L0?0 .O�I �� 9
.?==, 

�ल㉍लO�0I/ �स?/ो䬂 �K 9�ूI-्䵍 �00? 
B. ==�लO}+?m?� �+्䵅/?�
 �I }/?_/? ��o:े䜂 लO�? +0I्䵌� 

ल?�ू �00? �?:,? :P 

C. 9+्䵅/ �=
 ल?.�. }/=9?/ �O  ???लO �? ?लू㉍/?
�0 �00O �O  
सल� लO�? +0I्䵌� �O  �m,0.?-/m= �? =0+्0 

D. ्䵔I��/ो䬂 ,-? �+�++ू9 �?/ो䬂 �? +,? ल�?0O �O  लO�? +0I्䵌� 

�O  �m,0.?-/m= �K 9Iस?, �00? 
 

Q65. Which of the following errors are not revealed by the trial balance? 

A. Compensating errors B. Errors of commission 

C. Wrong balancing of an account D. Wrong totaling of an account 

Q65. �(?े䜂 AO �L( AI िI9� ?O@-+0I�# द♍??0? _?$ (BI� BK$I BP? 

A. �-,+0ू� ्䵔I��/?	 B. �?I>0 �I ्䵔I��/?	 

C. �?,O �? �ल, 9
,Iल0 D. �?,O �? �ल, /K� 
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Q66. An auditor should consider which of the following when evaluating the ability of a 

company to continue as a going concern? 

A. Audit fees B. Future assurance service 

C. Management's plans for disposal of assets D. A lawsuit for which judgement is not 

anticipated for 18 months 

Q66. A�्䵅/ �?� ल?.्䵚& }/?A?/ �?0I 0?(O �I �� +(I �I �?$? �? ?ूल㉍/?��( �0$O A?/ �� लO?? +0I�� �K �(?े䜂 AO ��A 

+0 =?�?0 �0(? �?9B�? 

A. लO�? +0I्䵌? >Iल㉍� B. .?=I ��=?90 9O=? 

C. 9
+�m, �O  -0+�?0 �O  सल� �-
/0 �I /K�0? D. =?., ��9�? -0+9/ 18 ?:I0ो䬂 �O  सल� �m/?स>, 0:I
 :P 
 

Q67. An auditor who is unable to form an opinion on a new client's opening inventory 
balances may issue an unqualified opinion on the current year's _________. 

A. Income statement only B. Statement of cash flows only 

C. Balance sheet only D. Statement of shareholder's equity only 

Q67. लO?? +0I�� �K �� (� ्䵇?B� �O  ्䵚?0�/.� ?}$IAू�I ?O@ो䬂 +0 =?�?0 $/ �0(O ?े䜂 
A?%? BP, �?ल ू?@? �O  _________ 

+0 
(B? =?�?0 ्䵚�� �0 A�$? BP । 

A. �O =ल �/ �? ===0+ B. �O =ल 0�.I �?�o, �? ===0+ 

C. �O =ल ,Iल0-+्䵔 D. �O =ल >O/0/?0�ो䬂 �? 9?o/? ===0+ 

 

Q68. Obtaining an understanding of an internal control involves evaluating the design of the 
control and determining whether the control has been _________. 

A. Implemented B. Monitored 

C. Authorized D. Tested 

Q68. ��$90� )(/�ि# �I A?ि ्䵚?;$ �0(O ?े䜂 )(/�ि# �O  
/.�ल㉍+ �? ?ूल㉍/?��( �0(? $%? /B )('??90$ �0(? ??/?ल BP -/? 
�AO )(/�ि# �K ________ ��/? �/? BP । 

A. �?/?9�o=, B. -0�0?0I 

C. �?//�ृ, D. +0I्䵌्䵌, 

 

Q69. Which one of the following is not the objective of cost accounting? 

A. To determine selling price B. To ascertain profit of each activity 

C. To help in organizing D. To control cost 
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Q69. �(?े䜂 AO -/? ल?�$ लO??��( �? �oO�/ (BI� BP ? 

A. ==्䵅/ �I?, -0/?990, �00? B. �m/O� =�9 �? ल?. 
स.-0���, �00? 

C. �/K�0 �00O ?े䜂 ?.. �00? D. ल?�, -0/
-्䵔, �00? 
 

Q70. Cost sheet simply refers to statement of the cost of _________. 

A. Goods produced B. Raw materials 

C. Goods sold D. Goods manufactured and sold 

Q70. ल?�$ +ि� _______ �I ल?�$ �? =??0# ??ि -$ल?$? BP । 

A. �m+?�., ??ल B. �चᩍ�? ??ल 

C. -O�O �� ??ल D. -0स?9, �0 -O�O �� ??ल 

 

Q71. Prime cost - Rs.51,000, works overheads - 20% on prime cost, administrative 
overheads - 10% on works cost, selling overhead - 5% on cost of production. Calculate cost 
of sale. 

A. Rs.61,200 B. Rs.67,230 

C. Rs.70,686 D. Rs.71,700 

Q71. ?ूल ल?�$ - y. 51,000, A��?? �+0I}// ?ूल ल?�$ +0 20%, ्䵚??A)(� �+0I}// A��?? ल?�$ +0 10%, =?्䵅/ 

�+0I}// �m+?&( ल?�$ +0 5% । =?्䵅/ �I ल?�$ �? +90�ल( �0े䜂। 

A. y.61,200 B. y.67,230 

C. y.70,686 D. y.71,700 

 

Q72. Sunk cost means ________. 

A. Alternative cost B. Cost incurred in past 

C. Cost actually incurred D. Cost of finished products 

Q72. !ू-I ल?�$ �? 
%? BP - 

A. =P��ल㉍+� ल?�, B. ==�, ?े䜂 �+�, ल?�, 

C. =?},= ?े䜂 �+�, ल?�, D. ,P/?0 �m+?.ो䬂 �I ल?�, 
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Q73. The consumption of certain type of ball bearing is 120 pieces per year. The price of 

each ball bearing is Rs. 100. If the inventory carrying cost is 20% per annum and the cost 
of procurement per order is Rs.20. Calculate the economic order quantity? 

A. 10 units B. 12 units 

C. 15 units D. 17 units 

Q73. �� )(]��$ ्䵚�?0 �O  -Iल -O/90�� �I ?+$ 120 (� ्䵚)$ ?@? BP । ्䵚m/O� -Iल -O/90�� �I �I?$ y. 100 BP । /9& 

?}$IAू�I �I ?B(I/ ल?�$ ्䵚)$?@? 20% �0 ्䵚)$ �&O? ्䵚?+# �I ल?�$ y. 20 BP । ��%?� �&O? ्䵚??ि? �? +90�ल( �0े䜂 ? 

A. 10 ��?�/?	 B. 12 ��?�/?	 

C. 15 ��?�/?	 D. 17 ��?�/?	 
 

Q74. The process of material control involves- 

A. Issue --> Purchasing --> Receipt --> Storage B. Purchasing --> Receipt --> Storage --> Issue 

C. Purchasing --> Storage --> Receipt --> Issue D. Receipt --> Storage --> Purchasing --> Issue 

Q74. A??्䵇I )(/�ि# �I ्䵚�्䵅/? ?े䜂 ??/?ल BK$? BP- 

A. ��/ू --> �0I. --> �?�o, --> .
ि?0 B. �0I. --> �?�o, --> .
ि?0 --> ��/ू 

C. �0I. --> .
ि?0 --> �?�o, --> ��/ू D. �?�o, --> .
ि?0 --> �0I. --> ��/ू 
 

Q75. Which among the following is not a method for measurement of labor turnover? 

A. Flux method B. Replacement method 

C. Separation method D. Mechanical method 

Q75. �(?े䜂 AO �L( AI =?�' श㙍? �?$? �O  ??+( �I =?�' (BI� BP? 

A. Mल]9 ==// B. �-,}-?+0 ==// 

C. +-ृ]�0+ ==// D. ?O�O -0�ल ==// 

 

Q76. The method which assumes that the changes in semi-variable costs are caused purely 
by variations in output, is _______. 

A. Graphic method B. Average method 

C. Least square method D. High low method 
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Q76. =?�' ]�A?े䜂 /B ??(? �?$? BP �� 
'?-+90?$ी ल?�$ो䬂 ?े䜂 +90?$?( =??Ip z+ AO ���+I� ?े䜂 +90?$?(ो䬂 �O  �?0# BK$O Bै䠂, 
_______ �Bल?$I BP । 

A. ्䵇?,I/ ==// B. �9, ==// 

C. �? =�9 ==// D. �चᩍ� -0o0 ==// 

 

Q77. The process of apportionment of overheads of a cost centre to its cost units is termed 
as ________. 

A. Allocation of overheads B. Apportionment of overheads 

C. Absorption of overhead D. Departmentalization of overhead 

Q77. ल?�$ �O m्䵖 AO �A�I ल?�$ ��?�/ो䬂 �O  �+0I}//ो䬂 �O  ्䵚.?�( �I ्䵚�्䵅/? �K ________ �B? �?$? BP । 

A. �+0I}//ो䬂 �? �-
�0 B. �+0I}//ो䬂 �? �.?�0 

C. �+0I}//ो䬂 �? �?Oल0 D. �+0I}//ो䬂 �? ==.?�I�0+ 

 

Q78. Which among the following amounts is contained in a static budget? 

A. Budgeted costs for actual output B. Actual costs for budgeted outputs 

C. Budgeted costs for budgeted output D. Actual costs for actual output 

Q78. �(?े䜂 AO �L( AI 0?/? }%P)$� -�� ?े䜂 ??/?ल BK$I BP? 

A. =?},==� ���+I� �O  सल� -���, ल?�,े䜂 B. -���, ���+I� �O  सल� =?},==� ल?�,े䜂 

C. -���, ���+I� �O  सल� -���, ल?�,े䜂 D. =?},==� ���+I� �O  सल� =?},==� ल?�,े䜂 
 

Q79. The costs which do not involve cash outflow are __________. 

A. Imputed costs B. Out of pocket costs 

C. Replacement costs D. Conversion costs 

Q79. �AI ल?�$े䜂 ]�(?े䜂 (�&I -9B???B ??/?ल (BI� BK$?, _______ �Bल?$I Bै䠂 । 

A. ��)ि, ल?�,े䜂 B. ,I ��0 ल?�,े䜂 

C. �-,}-?+0 ल?�,े䜂 D. z+?
,0+ ल?�,े䜂 
 
 
 
 

www.mseducationtv.com



 

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies  

Department, Haryana) 

 Morning Session 

 

September 15, 2017  Page 22 of 27 

 

Q80. Under inflationary conditions _________ method will show highest value of closing 

stock. 

A. FIFO B. LIFO 

C. Weighted average D. Stores stock level 

Q80. },I)$�0 +90]}%)$/K ?े䜂 ______ =?�' 
�)$? }�I� �? �चᩍ�$? ?ूल㉍/ &???��I । 

A. ,I,K (FIFO) B. लI,K (LIFO) 

C. .?90, �9, D. }�K0 }�I� },0 
 

Q81. From the following information calculate the cost of production. 
 
Raw material consumed is Rs.30,000, productive wages Rs.18,000, machine hours worked 
Rs.900. 

Administrative overheads: 20% on works cost, Machine hour rate is Rs.10 

A. Rs.57,400 B. Rs.59,800 

C. Rs.68,400 D. Rs.64,200 

Q81. )(o(/ल�?$ Aू�(? AO �m+?&( ल?�$ �? +90�ल( �0े䜂 । 
 

�चᩍ�O ??ल �I ?+$ y. 30,000, �m+?&� ?�&0ूI y. 18,000, �?/? ��� �� ??I(  o�O y. 900 

्䵚??A)(� �+0I}// A��?? ल?�$ +0 20%, ??I(  o�? &0 y. 10 

A. y.57,400 B. y.59,800 

C. y.68,400 D. y.64,200 

 

Q82. Zero-Base Budgeting technique was first introduced by ________. 

A. Peter A. Phyrr B. J. Batty 

C. Rowland and Harr D. J. Fred Meston 

Q82. जI0K--OA -�� $�(I� A-AO +BलO ________ द♍??0? ्䵚?0�. �I �� %I । 

A. +I�0 �. ,?�0 B. �O. -O्䴾I 

C. 0Kलै䠂ि ,-? :?09 D. �O. �O ि ?O}�0 

 

Q83. The formula for calculating Idle time variance is _________. 

A. Abnormal idle time x Standard mix B. Abnormal idle time x Standard rate 

C. Abnormal idle time x Standard time D. Abnormal idle time x Standard yield 
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Q83. 
्䵚/I-$ �?ल +90?$?( �? +90�ल( �0(O �? ,??ू?ल? BP - 

A. 
9???o/ 
�/I], �?ल x ??0� स?]9 B. 
9???o/ 
�/I], �?ल x ??0� .0 

C. 
9???o/ 
�/I], �?ल x ??0� �?ल D. 
9???o/ 
�/I], �?ल x ??0� ल�m/ 

 

Q84. In which year was Income Tax introduced in India? 

A. 1850 B. 1860 

C. 1886 D. 1961 

Q84. .?0$ ?े䜂 ��A ?@? �/�0 ्䵚?0�. BI�? 

A. 1850 B. 1860 

C. 1886 D. 1961 

 

Q85. The process of identifying where the goods are listed is known as _______. 

A. Coding B. Listing 

C. Classification D. Categorizing 

Q85. ??ल �B?? Aू�I-p Bै䠂, /B +B�?((O �I ्䵚�्䵅/? �K ________ �B? �?$? BP । 

A. �KिI�0+ B. 9�ूI�0+ 

C. =�ी�0+ D. ्䵦O+I�0+ 

 

Q86. Canons of taxation are enunciated by _________. 

A. Dr. Raja Chelliah B. Hugh Dalton 

C. Adam Smith D. Bastable 

Q86. �0?'?( �O  )(/? ________ द♍??0? )(y=+$ Bै䠂 । 

A. िI. 0?�? �Oल㉍लo/? B. :?, ि?ल㉍�0 

C. �ि? �}?- D. -O}�O-ल 

 

Q87. Which one of the following is taxable as income under the heads "salaries"? 

A. Commission received by a full-time director B. Remuneration received by a partner 

C. Allowances received by an employee D. Free accommodation given to an employee 
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Q87. �(?े䜂 AO �L( AI �/ <?O$(= ?I@?� �O  $B$ �/ �O  z+ ?े䜂 �0 /K)/ BP ? 

A. ++ू9�?सल� -0.O>� द♍=?0? �?o, �?I>0 B. 9?�O.?0 द♍=?0? �?o, +?90्䵦स?� 

C. �?9�?0I द♍=?0? �?o, .m,O D. �?9�?0I �K �./? �/? -0:>Iल㉍� �=?9 

 

Q88. One of the primary differences between marginal costing and absorption costing is 

regarding the treatment of which of the following? 

A. Variable overhead B. Direct material 

C. Fixed overhead D. Administration overhead 

Q88. AI??m$� ल?�$-)('??0# $%? 
??K@# ल?�$-)('??0# �O  -I� �� ्䵚?%/?� 
�$0 BP, ?B )(o(/ल�?$ ?े䜂 AO ��A�O  
�+�?0 AO A�-��'$ BP? 

A. +90=,ी �+0I}// B. �m/्䵌 9??्䵇I 

C. �}-0 �+0I}// D. �>?9-0� �+0I}// 

 

Q89. The green revolution is also known as _________. 

A. Wheat revolution B. Forest revolution 

C. Maize revolution D. Rice revolution 

Q89. B90$ ्䵅?�)$ �K �A z+ ?े䜂 .I �?(? �?$? BP - 

A. �O:ू	 ्䵅?
-, B. =0 ्䵅?
-, 

C. ?]�? ्䵅?
-, D. �?=ल ्䵅?
-, 

 

Q90. Which of the following has been specifically established to meet the requirements of 
credit of the farmers and villagers? 

A. ICICI bank B. Regional Rural Banks 

C. State Bank of India D. EXIM Bank 

Q90. �(?े䜂 AO ��A -P� �I }%?+(? ��A?(ो䬂 �0 ्䵇??I#ो䬂 �I �'?0 A�-�'I जz0$ो䬂 �K +ू0I �0(O �O  /ल� =??O@ z+ AO �I ��? 

A. ��.9I.��.9I.��. -ै䠂� B. ्䵌O्䵔I/ ्䵇??I+ -ै䠂� 

C. .?0,I/ }�O� -ै䠂� D. ��]ज᰼? -ै䠂� 
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Q91. The industrial sector faced the process of retrogression and deceleration during 

_________. 

A. 1950-1965 B. 1990-2005 

C. 1980-1995 D. 1965-1980 

Q91. �द♍/K��� �Oि (O +���?( �0 ?�&I �I ्䵚�्䵅/? �? A??(? _______ �O  &L0?( ��/? । 

A. 1950-1965 B. 1990-2005 

C. 1980-1995 D. 1965-1980 

 

Q92. Which year is known as the year of great divide for India's population? 

A. 1991 B. 2001 

C. 1981 D. 1921 

Q92. .?0$ �I �(A�_/? �O  /ल� 
m/�'� =?.?�( �? ?@? ��AO ??(? �?$? BP? 

A. 1991 B. 2001 

C. 1981 D. 1921 

 

Q93. Mixed income of the self employed means __________. 

A. Gross income received by proprietors B. Rent, interest and profit of an enterprise 

C. Combined factor payments which are not 

distinguishable 

D. Wages due to family workers 

Q93. }?)(/K]�$ �I /?�श㙍$ �/ �? 
%? BP- 

A. }=??I द♍=?0? �?o, 9�ल �/ B. �द♍/? �? +�0?/?, m/?� �0 ल?. 

C. 9�o?/्䵦, �?0� .I�,?0 ��0?े䜂 .O. 0:I
 +�/? �? 9�,? D. +90=?0 �O  �??�?0ो䬂 �O  �?0+ ?�.0ूI 
 

Q94. National income differs from net national product at market price by the amount of 

_________. 

A. Current transfers from the rest of the world B. Net indirect taxes 

C. National debt interest D. It does not differ 

Q94. 0?�रI/ �/, -?ज?0 �I?$ +0 )(?ल 0?�रI/ �m+?& AO __________ 0?/? $� 
ल� BK$I BP । 

A. ==�= �O  
o/ .O>ो䬂 9O �?ल ू

,0+ B. -0=ल +0K्䵌 �0 

C. 0?�रI/ �+ m/?� D. /: 
ल� 0:I
 :K,? 
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Q95. Which is the first order condition for the profit of a firm to be maximum? 

A. AC = MR B. MC = MR 

C. MR = AR D. AC = AR 

Q95. ,?? �? ल?. 
�'�$? �0(O �O  /ल� +BलI ्䵅? ?$? -/? BP? 

A. � 9I = �? �0 B. �? 9I = �? �0 

C. �? �0 = � �0 D. � 9I = � �0 
 

Q96. _______ refers to disposal of public sector's units in equity in the market. 

A. Globalization B. Privatization 

C. Disinvestment D. Liberalization 

Q96. _______ �? 
%? A0�?0I �Oि �I ��?�/ो䬂 �? -?ज?0 ?े䜂 A?o/? ?े䜂 )(+�?( �0(? BP । 

A. =P�=I�0+ B. -0�I�0+ 

C. ==-0=O> D. �.?0I�0+ 

 

Q97. The price elasticity of demand is defined as the responsiveness of ________. 

A. Price to a change in quantity demanded B. Quantity demanded to a change in price 

C. Price to a change in income D. Quantity demanded to a change in income 

Q97. ??�� �I �I?$ ्䵚m/?}%$? �K __________ �I 
(I�्䵅/??Iल$? �O  z+ ?े䜂 +90.?=@$ ��/? �?$? BP । 

A. �I?, 9O ??
� �I �� �??्䵔? ?O +90=,90 B. ??
� �I �� �??्䵔? 9O �I?, ?े䜂 +90=,90 

C. �I?, 9O �/ ?े䜂 +90=,90 D. ??
� �I �� �??्䵔? 9O �/ ?े䜂 +90=,90 

 

Q98. Shareholders are treated as creditors for the amounts they paid on the shares they 

subscribed to under the - 

A. Business entity concept B. Owner's entity concept 

C. Conservatism concept D. Cost concept 

Q98. ?O/0'?0�ो䬂 �K �A 0?/? �O  /ल� लO(&?0 ??(? �?$? BP ]�A 0?/? �? .I�$?( �mBो䬂(O �AO ?O/0ो䬂 +0 ��/? BP ]�(�? 
�?&?( 

�mBो䬂(O �A�O  
�$�?$ ��/? %? - 

A. �?0K-?0I }=m= �I 
=/?0+? B. ??सल� �? }=m= 
=/?0+? 

C. 9
0्䵌+ �I 
=/?0+? D. ल?�, 
=/?0+? 
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Q99. Of most, relevance in deciding as to how or which cost should be assigned to a 

responsibility centre is the degree of which of the following? 

A. Avoidability B. Causability 

C. Controllability D. Variability 

Q99. /B )(#?/ लO(O ?े䜂 �� �� �m$0&?)/m? �O m्䵖 �K �P AO �0 �L( AI ल?�$ A?(I&O/?$ �I �?(? �?9B�, �(?े䜂 AO �L( A? 
=?�ल㉍+ A???�'� A��$ BP? 

A. +90:?/9>Iल,? B. �?0+I/,? 

C. -0/
्䵔+I/,? D. +90=,90I/,? 
 

Q100. Which one of the following statements is wrong in relation to the relationship 
between AC and MC? 

A. Both AC and MC are calculated from TC B. If AC falls, MC will rise 

C. If AC rises, MC also rises D. For the minimum point of AC, average cost is 

equal to marginal cost. 

Q100. �.AI. �0 �?.AI. �O  -I� �O  A�-�' �O  ???लO ?े䜂 �(?े䜂 AO �L( A? �%( �ल$ BP? 

A. �.9I. �0 �?.9I. .K0ो䬂 �? +90�ल0 �I.9I. 9O +�/? �?,? 
:P 

B. /�. �.9I. 0I�O /�0,? :P, ,K �?.9I �+0 � O�? 

C. /�. �.9I. �+0 � ,? :P, ,K �?.9I. .I �+0 � O�? D. �.9I. �I o/ू0,? --o.I �O  सल�, �9, ल?�,, 9I??o,� 

ल?�, �O  9??0 :P 
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Q1. Bodh Gaya where Buddha got his enlightenment is in ________. 

A. Odisha B. Bihar 

C. Uttar Pradesh D. Karnataka 

Q1. -K/ �0? �A?? -Ip �K _?0 �I ्䵚?o-? AI� -I,______ /े䜂 AP। 

A. �)}9? B. -?:?0 

C. �m$0 ्䵚&O> D. �}??�� 

 

Q2. ISRO successfully launched a record of _________ satellites from PSLV-C37 in a single 
launch. 

A. 96 B. 154 

C. 64 D. 104 

Q2. �@1K (ISRO) 0O �� 9@?�ल लIm� /े䜂 PSLV-C37 @O ____ �+्䵇Aो䬂 �K @,ल??+ू}=� लIm� �1�O  �� 00? �I}?=/?0 

}-?++? ��0?। 

A. 96 B. 154 

C. 64 D. 104 

 

Q3. Chhatrapati Shivaji Terminus, a UNESCO World Heritage site, is in __________. 

A. Ahmedabad B. Vadodara 

C. Nagpur D. Mumbai 

Q3. �्䵔+}? 9?}?�I �9/=0@, �� 0ू0O}�K (UNESCO) +}�} /1KA1 }-ल __________ /े䜂 AP। 

A. 
:.&???& B. =!K&0? 

C. }?�+I0 D. .IK?� 
 

Q4. ________ is the Union minister of Commerce and Industry. 

A. Suresh Prabhu B. Maneka Gandhi 

C. Smriti Irani D. Vijay Goel 

Q4. ________ �े䜂 ्䵖I0 }?+?जᱍ0 �1 �द♍0K� /?्䵔I Aै䠂। 

A. 9I0O> ्䵚-I B. .O}�? �?K'} 

C. }.-ृ$ �0?}} D. ==�/ �K/ल 
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Q5. 'Sharafabad', the town founded by Mughal Emperor Alamgir II, is presently known as 

________. 

A. Faridabad B. Bahadurgarh 

C. Hisar D. Mewat 

Q5. /Iग़ल @्䵞?� �ल/�I1 द♍+}?I0 द♍}?1? }-?++? '@1?,?-?.' �K }?=/?0 /े䜂 _________ �O  0?/ @O �?0? �??? AP। 

A. ,0I&???& B. ?:?&I0�? 

C. 9:9?0 D. .O=?$ 

 

Q6. The ______ Commission was set up to determine the boundaries of Punjab and 
Haryana. 

A. Sarkaria B. Joseph 

C. Shah D. Nariman 

Q6. +?�?- �1 A910??? �I @I/?�? �K }0/?=91? �10O �O  9ल� ______ �0K� �I }-?+0? �I �� -I। 

A. 90�?90/? B. �K9, 

C. >?: D. }0I.} 

 

Q7. Who was the first Chief minister of Haryana? 

A. Bhagwat Dayal Sharma B. Rao Birender Singh 

C. Bansi Lal D. Banarasi Das Gupta 

Q7. A910??? �O  ्䵚-/ /I_0/?्䵔I �L0 -O? 

A. -?�=$ &/?ल >.?? B. 0?= -?0े䜂्䵖 99K: 

C. ?K9} ल?ल D. ?}?09} &?9 �Io$? 
 

Q8. Before independence, timber market of Yamunanagar was famous by the name of 
________. 

A. Garibpur Mandi B. Badalpur Mandi 

C. Abdulhapur Mandi D. Nawab Mandi 

Q8. ��?.I @O +AलO, 0/I0?0�1 �? ल�)I -?�?1 ______ �O  0?/ @O ्䵚9@p -?। 

A. ग᜼0I?+I0 .K!} B. ??&ल+I0 .K!} 

C. 
m&Iल㉍ल?+I0 .K!} D. }=?? .K!} 
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Q9. Chief Minister of Haryana announced Tirtha Darshan Scheme for _______. 

A. Children of Haryana B. Senior Citizens of Haryana 

C. Youth of Haryana D. Economically Weaker Section of Haryana 

Q9. A910??? �O  /I_0/?्䵔I 0O ______ �O  9ल� ?I-= .?=0 0K�0? �I  K??? �I। 

A. :90/?#? �O  ?चᩍ�O B. :90/?#? �O  =90�  }?�90� 

C. :90/?#? �O  /I=? D. :90/?#? �O  �}%?� z+ 9O �.�K0 =�? 
 

Q10. Who amongst the following singers was born in Haryana? 

A. Alka Yagnik B. Shubha Mudgal 

C. Bappi Lahari D. Sonu Nigam 

Q10. }0म⹍09ल+?? �?0�ो䬂 /े䜂 @O ��@ �?0� �? �m/ A910??? /े䜂 AI� -?? 

A. 
ल�? /?_)}� B. >I-? .I&�ल 

C. ?o+} ल:O0I D. 9K}ू -}�. 

 

Q11. Who amongst the following Chief Ministers of Delhi was born in Haryana? 

A. Madan Lal Khurana B. Sheila Dikshit 

C. Arvind Kejriwal D. Sahib Singh Verma 

Q11. /.ल㉍लI �O  }0म⹍09ल+?? /I_0/?}्䵔0ो䬂 /े䜂 @O ��@ /I_0/?्䵔I �? �m/ A910??? /े䜂 AI� -?? 

A. .&} ल?ल �I0?}? B. >}ल? &I्䵌ि$ 

C. 
0==K& �O �0I=?ल D. 9?9:? 99K: =.?? 
 

Q12. Haryana Government has setup an online system "Sex Ratio Monitoring Dashboard" to 

monitor sex ratio in __________ district. 

A. Panipat B. Hisar 

C. Sonipat D. Panchkula 
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Q12. A910??? @1�?1 0O _____ o�लO /े䜂 9ल?� 
0I+?? �I }0�1?0I �O  9ल� "9ल?� 1O9?0K /K}0�91?� !P?-K!=" 0?/� �� 

�0ल?�0 9@}�/ �I }-?+0? �I AP। 

A. +?}}+$ B. 9:9?0 

C. 9K}}+$ D. +K��I ल? 
 

Q13. HAREDA stands for _______. 

A. Haryana Renewable Energy Development 

Agency 

B. Haryana Agricultural Resources Development 

Association 

C. Haryana Afforestation and Development 

Agency 

D. Haryana River water and Ecology Development 

Association 

Q13. ��.�.�1.�.!I.� �? +ू1? 0?/ _______ AP। 

A. :90/?#? 90m/ू�?ल �}�ी !O=ल+.े䜂� ��े䜂9} B. :90/?#? �्䵇}�ल㉍�0ल 909K9े9 !O=ल+.े䜂� �9K99�>} 

C. :90/?#? �,K0O}�O>} �K! !O=ल+.े䜂� ��े䜂9} D. :90/?#? 90=0 =?�0 �K! ��KलI�} !O=ल+.े䜂� �9K99�>} 

 

Q14. Which mobile application is launched by Haryana government to create awareness 

among pregnant women? 

A. Mamta B. Kilkari 

C. Bachpan D. Bal Dhan 

Q14. �}=}?I //Aल?�? �O  -I� �?�z�?? +P.? �10O �O  9ल� A910??? @1�?1 द♍}?1? �L0 @? /K-?�ल �-लI�O ?0 ?Iz ��0? �0? 
AP? 

A. ..$? B. ��ल�?0I 

C. ?�+} D. ??ल '} 

 

Q15. Pandit Laxmichand is a famous ______ of Haryana. 

A. Litterateur B. Folk Artist 

C. Folk poet D. Folk Singer 

Q15. +?)!? ल�/I�?. A910??? �O  �� ्䵚9@p __________ Aै䠂। 

A. 9?9:m/�?0 B. लK� �ल?�?0 

C. लK� �== D. लK� �?/� 
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Q16. Shri Murar Lal Sharma (Neeras) is famous for his writings for the _______. 

A. Children and young B. Travellers to the Punjab and Haryana region 

C. Folk songs D. History of Haryana 

Q16. ्䵦I /I1?1 ल?ल ?/?= (0I1@) ________ �O  9ल� 
+0O लO?0 �O  9ल� ्䵚9@p AP। 

A. ?चᩍ�O �0 /I=? B. +K�?? �0 :90/?#? िO्䵔 .े䜂 �}O =?लO /?्䵔} 

C. लK� �}$ D. :90/?#? �? �-$:?9 

 

Q17. ______ created the novel form of Jasrangi where a male and female vocalist sings 
different ragas at the same time. 

A. Maharaja Jaywant Singh Waghela B. Pandit Jasraj 

C. Bade Ghulam Ali Khan D. Ustad Gulam Khader Khan 

Q17. ________ 0O �@1?�I �O  �+m0?@ z+ �? }0/?=? ��0? �A?? �� +Iy? �1 //Aल? �?0� �� AI @/0 /े䜂 
ल�-
ल� 

1?� �??O Aै䠂। 

A. .:?0?�? �/=K$ 99K: =? Oल? B. +K)!$ �90?� 

C. ?)O �Iल?. 
लI �?} D. �}$?& �Iल?. �?&0 �?} 

 

Q18. The glory and strength of Thaneshwar of Haryana was discussed in the book written 
by the Chinese traveler ________. 

A. Hiuen-Tsang B. Fahien 

C. Mu-Wang D. Zhang Qian 

Q18. �I0I 0?्䵔I _______ द♍}?1? 9ल?I �� +I}?� /े䜂 A910??? �O  -?0O�}1 �I //A/? �1 ?o-? +1 ��?= �I �� -I। 

A. }=O}-m9?K� B. ,?9:/?} 

C. म⹍/ू-=?K� D. �?K� �़㰿/?} 

 

Q19. Where is the biggest animal husbandry farm of Asia situated in Haryana? 

A. Faridabad B. Bhiwani 

C. Ambala D. Hisar 
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Q19. �9?0? �? @-@O -)? +?I+?ल0 फ?/= A910??? /े䜂 �A?? o}-? AP? 

A. ,0I&???& B. 9-=?}} 

C. 
म⹍??ल? D. 9:9?0 
 

Q20. Which district of Haryana has the largest forest area? 

A. Panchkula B. Gurgaon 

C. Ambala D. Karnal 

Q20. A910??? �O  ��@ o�लO /े䜂 @-@O -)? }0 �O्䵔 AP? 

A. +K��I ल? B. �I)�?K= 

C. 
म⹍??ल? D. �0}?ल 

 

Q21. Which district in Haryana receives the lowest rainfall? 

A. Gurgaon B. Sirsa 

C. Karnal D. Panipat 

Q21. A910??? �O  ��@ o�लO /े䜂 @-@O �/ -?91? AK?I AP? 

A. �I)�?K= B. 9909? 

C. �0}?ल D. +?}}+$ 

 

Q22. Which National Park of Haryana is situated at the Shivalik hills? 

A. Shikargah Park B. National Park of Haryana 

C. Sultanpur National Park D. Kalesar National Park 

Q22. A910??? �? �L0 @? 0P?0ल +?�= , 9?}?9ल� �I +A?))0ो䬂 +1 o}-? AP? 

A. 9>�?0?�? +?�?  B. }O>}ल +?�?  �फ⬼ :90/?#? 

C. 9Iल㉍$?}+I0 }O>}ल +?�?  D. �?लO90 }O>}ल +?�?  
 

Q23. Which of the following countries has set-up a horticulture project in Haryana? 

A. Sri Lanka B. Australia 

C. Israel D. Iraq 
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Q23. }0म⹍09ल+?? /े䜂 @O ��@ .O? 0O A910??? /े䜂 -?�}?0I +910K�0? �I }-?+0? �I AP? 

A. ्䵦}लK�? B. �}रO9ल/? 

C. ��0?�ल D. �0?� 

 

Q24. ________ can call joint sessions of two houses of Parliament. 

A. President of India B. Speaker of Lok Sabha 

C. Governor D. Prime Minister 

Q24. _________ @?@. �O  .K @.0ो䬂 �O  @?0I-? @्䵔 �? �}}?0 �1 @�?O Aै䠂। 

A. -?0$ �O  0?�र+-$ B. लK� 9-? 
o/ि 

C. 0?जᱍ/+?ल D. ्䵚'?}.K्䵔} 
 

Q25. Who is the first law officer of the Government of India? 

A. Attorney General B. Chief Justice of Supreme court 

C. President of India D. Prime Minister of India 

Q25. }?1? @1�?1 �? +Aल? �?0ू0 
//�?1I �L0 AP? 

A. 
�}ी �}0ल B. 9I्䵚}. �K�? �O  .I_/ m/?/?'}> 

C. -?0$ �O  0?�र+-$ D. -?0$ �O  ्䵚'?}.K्䵔} 
 

Q26. Haryana legislative Assembly has _____ members. 

A. 85 B. 92 

C. 87 D. 90 

Q26. A910??? +}/?0 @}? /े䜂 ________ @.}0 Aै䠂। 

A. 85 B. 92 

C. 87 D. 90 

 

Q27. Haryana's state tree is the _______. 

A. Banyan B. Peepal 

C. Mulberry D. Ashoka 
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Q27. _______ A910??? �? 1?��I0 }�ृ AP। 

A. ?0�& B. +}+ल 

C. >:$$ू D. 
>K� 

 

Q28. The rating System for Green Buildings of Government of India is _____. 

A. GRIHA B. REUSE 

C. GREEN D. ECDC 

Q28. ______ }?1? @1�?1 �O  ्䵇I0 }-oल㉍!?� �O  9ल� 1O/�?� 9@}�/ AP। 

A. �:ृ B. 90/�ू 

C. ्䵇}} D. � 9} !} 9} 
 

Q29. Thread and cloth prepared in Bhiwani mill is exported to which countries? 

A. Bhutan and Pakistan B. Arabic Countries 

C. China and Nepal D. European Countries 

Q29. ��@ .O? /े䜂 9}}?0I 9/ल /े䜂 ?P0?1 ��� �� /?�O �1 �+)O �? }00?=? ��0? �??? AP? 

A. -�ू?} �0 +?��}$?} B. 
0?} &O> 

C. �}} �0 }O+?ल D. /0ूK+}/ &O> 

 

Q30. Pick the odd one out: 
 
Goat, Sheep, Giraffe, Camel 

A. Goat B. Sheep 

C. Camel D. Giraffe 

Q30. 
@?�? �? �00 �1े䜂। 
 

-�1I, }O), o�1?,, �? � 

A. ?�0I B. -O) 

C. �K � D. _�0?, 
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Q31. Find the analogy. 

 
BODQ: LYJW::CPER: ? 

A. KMXZ B. KXIV 

C. YWLJ D. LJYW 

Q31. @/?0?? "ू?"े䜂। 
 
BODQ: LYJW::CPER: ? 

A. KMXZ B. KXIV 

C. YWLJ D. LJYW 

 

Q32. What should come at the place of question mark (?) in the following number series? 
 
2, 6, 14, 30, ?, 126 

A. 98 B. 76 

C. 62 D. 54 

Q32. }0म⹍09ल+?? @?_0? ्䵦ृ??ल? /े䜂 ्䵚�0 /�}0 (?) �O  }-?0 +1 -0? AK0? �?/A�? 

 
2, 6, 14, 30, ?, 126 

A. 98 B. 76 

C. 62 D. 54 

 

Q33. If in a coding scheme, HEAT is written as GDBU, how will BOIL be coded as? 

A. STVU B. CDOP 

C. ANJM D. TUMN 

Q33. 0/. �� �K! }??? /े䜂, HEAT �K GDBU 9ल?? �??? AP, ?K BOIL �K -0? 9ल?? �?��?? 

A. STVU B. CDOP 

C. ANJM D. TUMN 

 

Q34. Find the value of X in the following equation: 
 

5 x 10 - X = 25 

A. 625 B. 750 

C. 825 D. 950 
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Q34. }0म⹍09ल+?? @/I�1? /े䜂 X �? /?0 }0�?ले䜂: 
 

5 x 10 - X = 25 

A. 625 B. 750 

C. 825 D. 950 

 

Q35. Chitra rolls a die. What is the probability that she gets a number less than 2? 

A. 0 B. 1/6 

C. 1/3 D. 1 

Q35. /�्䵔? �� +?@? ,े䜂 �?I AP। �@O 2 @O �/ @?_0? 9/ल0O �I ��?0I @?}?}0? AP? 

A. 0 B. 1/6 

C. 1/3 D. 1 

 

Q36. 20% more than Rs.150 = Rs. ________. 

A. 160 B. 170 

C. 180 D. 190 

Q36. 150 y+0O @O 20% 
//� = ________ y+0O 

A. 160 B. 170 

C. 180 D. 190 

 

Q37. The loss incurred by selling a table fan is Rs.300. Find the loss percentage if the cost 

of the table fan was Rs.3500. 

A. 9.50% B. 8.57% 

C. 7.20% D. 6.70% 

Q37. �� �O-ल ,P 0 -O��1 300 y �? 0I�@?0 AI� AP। 0/. �O-ल ,P 0 �I ल?�? 3500 y -I ?K ��?0? ्䵚}??? 0I�@?0 AI� 

AP? 

A. 9.50% B. 8.57% 

C. 7.20% D. 6.70% 

 

Q38. ______ is the synonym of "ordinary". 

A. Uncommon B. Traditional 

C. Common D. Personal 
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Q39. _______ is the antonym of "friend". 

A. Pal B. Enemy 

C. Helper D. Student 

 

Q40. Identify the meaning of the idiom. 
 

"A ray of sunshine." 

A. Something that is warm to your heart B. Someone who makes things better for you 

C. Someone or something that makes you feel 

happy or hopeful 

D. Someone who cares for you 

 

Q41. Sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"I having tea and sandwiches to breakfast before going to school." 

A. I had tea and sandwiches to breakfast before 

going to school. 

B. I having tea and sandwiches as breakfast 

before going to school. 

C. I had tea and sandwiches for breakfast before 

going to school. 

D. I had tea and sandwiches as breakfast before 

going to school. 

 

Q42. Complete the sentence by choosing the correct word. 

 
Heavy rains _____ (spoil) our plans to hold the meeting in an open ground. 

A. Was spoiling B. spoilt 

C. spoil D. were spoiled 

 

Q43. The rays of light always travel in ______. 

A. Straight lines B. Curved lines 

C. Zigzag lines D. Distorted lines 

Q43. ्䵚�?? �I ��1?े䜂 A/O?? _______ /े䜂 0?्䵔? �1?I Aै䠂। 

A. 9}'} 0O�? B.  I.?=&?0 0O�? 

C. _़㰿�़㰿}� 0O�? D. ==�ृ$ 0O�? 
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Q44. The only non-metal that is liquid at room temperature is ______. 

A. Mercury B. Bromine 

C. Phosphorus D. Potassium 

Q44. ��/?्䵔 �@? �P1-/??I AP �K @?/?m0 ??+/?0 +1 ?1ल 
}}-? /े䜂 1A?? AP। 

A. +?0? B. ्䵜K9.} 

C. ,?},K09 D. +K�}9>/. 

 

Q45. Plants absorb nutrients mainly from ______. 

A. Sunlight B. Air 

C. Soil D. Rain drops 

Q45. +L/O /I_0 z+ @O _______ @O +K?� ?त⑍}ो䬂 �K 
}?K+?? �1?O Aै䠂। 

A. 9/ू? �? ्䵚�?> B. :=? 

C. 9.्䴾} D. ??90> �I ?ूK&े䜂 
 

Q46. }0म⹍0 ?बⱍ. �? +0?=0}?�I ?बⱍ. -??�0े䜂 | 

 

�A?� 

A. 0==$}/? B. 9&=? 

C. ?O)? D. �ल/?} 

 

Q47. }0म⹍0 ?बⱍ. �? +}+1I? (+}लK/) 
-= -??�0े䜂 | 

 

�1म⹍} 

A. >Iz�$ B. +:ल 

C. 
K$ D. ���0I 
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Q48. 0I�O 9ल?O /IA?}1O �? �/�? 
-= -??0े䜂 | 

 

/�1/�� �I ?1A 1?� -.ल0? 

A. $0: $0: 9O 0K� 9&�?}? B. 0K�}} 9.�?� :K}? 

C. 99]&?m$:I} :K}? D. ?O.$ल? ?:9 �0}? 
 

Q49. 0I�O 9ल?O ?बⱍ. �? ��}�0 -0?0े䜂| 

 

1?}?O 

A. 0?}$? B. 0?9$? 

C. 09$? D. 0}$? 
 

Q50. 0I�O 9ल?O ?बⱍ. �? -AI}�0 -0?0े䜂। 
 

 K)? 

A.  K)?� B.  K)?�K 

C.  K)O D.  K)K 
 

Q51. Accounting of inventory is done as per ______. 

A. AS 3 B. AS 5 

C. AS 2 D. AS 6 

Q51. }}?I@ू�I �? लO???�0 ______ �O  
0I@?1 ��0? �??? AP । 

A. � �9 3 B. � �9 5 

C. � �9 2 D. � �9 6 

 

Q52. Intangible asset is: 

A. Vehicle B. Plant and machinery 

C. Goodwill D. Furniture 
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Q52. 
/ू?= +91@?+oत⑍? AP: 

A. =?:} B. 9K/K्䵔 �=K .>}}0I 

C. 9?� D. ,}ी�0 
 

Q53. Pooling of interest method is followed in which type of amalgamation? 

A. Nature of purchase B. Nature of demerger 

C. Nature of merger D. Nature of seller 

Q53. ��@ ्䵚�?1 �O  @/?/Oल0 /े䜂 /A? ��्䵔I�1? +}// �? 
0I@1? ��0? �??? AP? 

A. ्䵅/ �I ्䵚�ृ-$ B. ==ल/} } �0}O �I ्䵚�ृ-$ 

C. ==ल/} �I ्䵚�ृ-$ D. ==्䵅O $? �? }=-?= 
 

Q54. If purchase of Office Furniture is debited to the Merchandise Stock Account instead of 
Property Account, such an error cannot be disclosed by Trial Balance as the amount is 
posted to the correct side but in wrong account. Such an error is known as - 

A. Error of Commission B. Errors of Omission 

C. Errors of Principle D. Compensating errors 

Q54. 0/. �?0?=ल0 �O  ,0ी�1 �I ?1I. �K @?+oत⑍? ???O �O  }-?0 +1 }?+?oजᱍ0� }�I� ???O /े䜂 0?/O �1 /.0? �??? AP ?K �@ 

्䵚�?1 �I �ल?I ?O? +1I�? द♍}?1? ्䵚�� 0AI? AK +??I AP -0ो䬂�� 1?9? �K �/�? +� /े䜂 लO��0 �ल? ???O /े䜂 !?ल? �0? AP । �@I ्䵔I/� 
�K �A?O Aै䠂 - 

A. �.}>} �I ्䵔I9� B. -लू-�लू 

C. 99द♍?K$ �I ्䵔I9�/?K D. ्䵚-$+0ू� ्䵔I9�/?K 
 

Q55. SLR stands for: 

A. Standard Liquidity Ratio B. Statutory Liquidity Ratio 

C. Statutory Liquidity Reserve D. Statutory Limited Ratio 

Q55. �@.�ल.�1. �? +}}??1 AP: 

A. }�ै䠂!!? 9ल_==)!�I 0O9>/K B. }�OटὍ/�ू0I 9ल_==)!�I 0O9>/K 

C. }�OटὍ/�ू0I 9ल_==)!�I 90़㰿=? D. }�OटὍ/�ू0I 9ल9.�O! 0O9>/K 
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Q56. Profit prior to incorporation is transferred to ______. 

A. General reserve B. Profit and loss account 

C. Capital profit D. Pre incorporation reserve 

Q56. }0�/0 @O +AलO �O  ल?} �K ______ /े䜂 
??91? ��0? �??? AP । 

A. 9?.?m/ ्䵚?0ि# B. ल?- = :?-} �?$? 

C. +ूK�}�$ ल?- D. +=ू?--}�.} ्䵚?0ि# 

 

Q57. Cash and cash equivalent include: 

A. Long term investment B. Over draft 

C. Debentures account D. Short term investments 

Q57. 0�. �1 0�. @/?Iल㉍0 /े䜂 ??9/ल Aै䠂: 

A. &I ?�?लI} -}=O> B. �=0्䵑Io� 

C. )!?े䜂�0 �?$? D. 
ल㉍+�?लI} -}=O> 

 

Q58. The purpose of cost accounting is to provide information for - 

A. Preparing costing Profit & Loss A/c B. Cost control 

C. Locating factors leading to wastages and losses D. Assessing the profitability and financial position 

of the firm 

Q58. ल?�? लO???�0 �? �oO�0 �@�O  9ल� @ू�0? ्䵚.?0 �10? AP - 

A. ल?�$ ल?- = :?-} �?$? $}/?0 �0}? B. ल?�$ -}/K्䵔# 

C. 
+9>�� �=K :?-}/ो䬂 .े䜂 +90#?9.$ :K}O =?लO �?0�ो䬂 �? +$? 
ल�?}? 

D. ,.? �I ल?-्䵚&$? �0 ==m$}/ _}%-$ �? .लू㉍/?K�} �0}? 

 

Q59. In marine hull ______ % of premium income is carried forward as provision for and 
the balance is transferred to profit and loss account. 

A. 100 B. 50 

C. 25 D. 0 
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Q59. @/I्䵖I +K? /े䜂 ______ % ्䵚I9/0/ �0 �K ्䵚?}/?0 �O  z+ /े䜂 ��O लO �?0? �??? AP �1 ?O? �K ल?} } A?}0 ???O /े䜂 

??91? ��0? �??? AP । 

A. 100 B. 50 

C. 25 D. 0 

 

Q60. A change in the estimated life of asset which necessitates adjustment in the 
depreciation is an example of ______. 

A. Prior period item B. Ordinary item 

C. Extra ordinary item D. Change in accounting estimate 

Q60. +91@?+oत⑍? �O  ्䵚?-�9ल? �I}0�?ल /े䜂 +91}?=0, o�@�O  �?1? /ूल㉍0}?@ /े䜂 @/?0K�0 �}�0� -0 �??? AP,______ �? 
�.?A1? AP । 

A. +=ू??=}' .& B. 9?'?0# .& 

C. 
9?'?0# .& D. लO�?K�} ्䵚?=�ल} .े䜂 +90=$?} 

 

Q61. Among the following who is not eligible to appoint a CA of a Company? 

A. Proprietary firm B. Partnership firm 

C. Body corporate D. LLP 

Q61. �0/े䜂 @O �L0 �� �? +0I /े䜂 @I.�. }00I-? �10O �O  9ल� +?्䵔 0AI? AP? 

A. }=?9.m= ,.? B. 9?�O&?0I ,.? 

C. �?+ो0O� -}�?/ D. �ल.�ल.+}. 
 

Q62. Tenure of an auditor in a Company, if the Annual General Meeting (AGM) is adjourned, 
will be over ______. 

A. Only up to next AGM B. Appointed for the life of company 

C. Three years D. Only after completing the adjourned AGM 

Q62. 0/. }?+?=� @?/?m0 -P � (�.�I.�/.) }-/�? �I �??I AP, ?K �? +0I /े䜂 लO?? +1I�� �? �?0=�?ल _______ @/?-? 

AK�? । 

A. �O =ल 
�लO �.�}.�.. $� B. �K +}} �O  �}=}�?ल �O  9ल� -}/I=$ 

C. $}} =}? D. �O =ल }%}�$ �.�}.�.. 9.?o$ :K}O �O  ??& 
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Q63. Error of commission means: 

A. Wrong totaling and wrong posting B. Capital item treated as revenue 

C. Not recording a transaction D. One set of error nullify the other set of error 

Q63. �/I?0 �I ्䵔I/� �? 
-= AP: 

A. �K) ल�?}O .े䜂 �ल$} $%? �ल$ ्䵚==_�� B. +ूK�}�$ .&ो䬂 �K 0?�}= .& .?} लO}? 

C. ��9} लO}-&O} �K &�? } �0}? D. �� ्䵚�?0 �I �ल$} द♍=?0? &9ू0O ्䵚�?0 �I �ल$} �K 
.?m/ 

�0}? 
 

Q64. _______ is an activity carried out by the staff of the organization to meet the 
management's requirement of information. 

A. Statutory audit B. Internal audit 

C. Cost audit D. External audit 

Q64. ______ }A �?0=�ल?+ AP o�@O @?� 0 �O  }�?, द♍}?1? ्䵚-?/0 �I @ू�0? �I �}�0�?? �K +ू1? �10O �O  9ल� ��0? �??? 
AP । 

A. 9?K==}'� लO�? +0Iि? B. �K$90� लO�? +0Iि? 

C. ल?�$ लO�? +0Iि? D. ??:0I लO�? +0Iि? 
 

Q65. Auditor is not responsible for ______. 

A. Safeguard of asset B. Expressing opinion 

C. True and fair view D. Reasonable assurance of free from 

misstatement 

Q65. लO?? +1I�� _______ �O  9ल� �त⑍?1.?0I 0AI? AK?? । 

A. +909K+_m$/ो䬂 �I 9I0ि? B. ==�?0 }/=$ �0}? 

C. 9चᩍ�} �0 �}�$ द♃_�� D. 9.m/?�%} 9O .I=$ 0:}O �? �}�$ ��=?9} 

 

Q66. In auditing most of the time, the auditor deals with _______ type of audit evidence. 

A. Conclusive B. External 

C. Persuasive D. Internal 
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Q66. लO?? +1I�? /े䜂, 
//�??? @/0 लO?? +1I�� ______ ्䵚�?1 �I लO?? +1I�? @?�0 �O  @?- }0}A?1 �1?? AP । 

A. -}��/?$.्� B. ??:0I 

C. ्䵚m/?/� D. �K$90� 

 

Q67. _______ deals with evaluation of transactions by test of details of transactions and 

analytical procedures. 

A. Compliance method B. Substantive procedures 

C. Test of control D. Comparative method 

Q67. _______ लO0-.O0 �}? +}�लO???त⑍/� ्䵚�ि0?�? �O  बⱍ0L1O �I +1I�? द♍}?1? लO0-.O0 �O  /ूल㉍0??�0 @O @?-?//? Aै䠂 । 

A. 
}I+?ल} ==}' B. .L9ल� ्䵚�्䵅/?�K 

C. -}/K्䵔# �? +0Iि# D. $Iल}?m.� ==}' 

 

Q68. Type I audit reports are issued by service provider auditor if the _______ 

A. Internal controls are designed efficiently and 

operating effectively. 

B. Internal controls are designed effectively. 

C. Internal controls are operating effectively. D. Internal controls are designed efficiently. 

Q68. @O}? ्䵚.??? लO?? +1I�्?� द♍}?1? ्䵚�?1-I �I लO?? +1I�? 91+K�े䜂 �?1I �I �??I Aै䠂, 0/. ______ 

A. �K$90� -}/K्䵔# �? 
9-�ल㉍+ ्䵚-?=} "K� 9O $}/?0 ��/? 
�/? :} �0 =O ्䵚-?=} "K� 9O ्䵚�?9ल$ :}। 

B. �K$90� -}/K्䵔# �? 
9-�ल㉍+ ्䵚-?=} "K� 9O $}/?0 ��/? 
�/? :}। 

C. �K$90� -}/K्䵔# ्䵚-?=} "K� 9O ्䵚�?9ल$ :}। D. �K$90� -}/K्䵔# �?/?ि. z+ 9O 
9-�_ल㉍+$ :ै䠂। 
 

Q69. Material, labour and expenses are classification of cost as per ______. 

A. Behavior B. Nature 

C. Variability D. Basis of element 

Q69. @?/्䵇I, ्䵦/ �}? }00 ______ �O  
0I@?1 ल?�? �O  }�ी�1? Aै䠂 । 

A. }/=:?0 B. }=-?= 

C. +90=$?}}/$? D. �?0� �O  �'?0 
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Q70. Value of sacrifice made in accepting an alternative course is called ______. 

A. Opportunity cost B. Replacement cost 

C. Imputed cost D. Discretionary cost 

Q70. }P�oल㉍+� /?�= }}I�?1 �10O /े䜂 ��� �� त⑍0?� �O  /ूल㉍0 �K ______ �A?O Aै䠂 । 

A. 
=90 ल?�$ B. ्䵚-$}%?+} ल?�$ 

C. �_)!$ ल?�$ D. ===O�?'}} ल?�$ 

 

Q71. A location, a person, an item of equipment or a group of these for which cost may be 
ascertained and used for the purpose of cost control is known as _______. 

A. Profit centre B. Responsibility centre 

C. Cost unit D. Cost centre 

Q71. }-ल, }0o-?, �+}�1 �I /. 0? �0�? @/ूA o�0�O  9ल� ल?�? 
9}}0o��? �I �? @�?I AP �1 o�@�? �}?O/?ल 

ल?�? }00?्䵔? �O  ्䵚0K�0?-= ��0? �??? AP, �@O ______ �A?O Aै䠂 । 

A. ल?- �O m्䵖 B. �m$0&?-/m= �O m्䵖 

C. ल?�$ ��?� D. ल?�$ �O m्䵖 
 

Q72. Fixed cost per unit is: 

A. Fixed in nature B. Variable in nature 

C. Semi variable in nature D. Non variable and non fixed 

Q72. ्䵚}? ��?� o}-1 ल?�? AK?I AP: 

A. }=-?= 9O _}%0 B. }=-?= 9O +90=$ी 

C. }=-?= 9O 
'?-+90=$ी D. 
+90=$ी �=K 
_}%0 
 

Q73. Automobile workshops, interior decoration, etc usually follows _______. 

A. Job costing B. Batch costing 

C. Contract costing D. Operating costing 

Q73. ��K/K-?�ल }�= ?I+ �I �??91� @�?}� �/. /े䜂 @?/?m0?: ______ �? 
0I@1? ��0? �??? AP । 

A. �I? ल?�$ -}'??0# B. ?}� ल?�$ -}'??0# 

C.  O�? ल?�$ -}'??0# D. ्䵚�?ल} ल?�$ -}'??0# 
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Q74. JIT purchase stands for: 

A. Just in to B. Just in time 

C. Job in time D. Out time 

Q74. �O.��.�I. ि0 /े䜂 �O.��.�I. �? +ू?= z+ AP: 

A. �}� �} �ू B. �}� �} �?�. 

C. �I? �} �?�. D. ��� �?�. 

 

Q75. In _______, each consignment of material purchased is identified separately as to its 
price. 

A. Specific identification price method B. Base stock method 

C. Simple average method D. Realizable price 

Q75. _______ /े䜂, ?1I.I �� @?/्䵇I �O  ्䵚त⑍0O� ्䵚O?? �K �@�I �I/? �O  z+ /े䜂 
ल� @O +A�?0? �??? AP । 

A. ==9>�� 
9-}�}}} �I.$ ==}' B. �'?0 }�I� ==}' 

C. 90ल �9$ ==}' D. =9लूI-/K)/ �I.$ 

 

Q76. Two approaches of material handling cost are: 

A. Opportunity cost and labour B. Landed cost and overheads 

C. Machinery handling D. Transition overhead 

Q76. @?/्䵇I Aै䠂!9ल?� ल?�? �O  .K द♃o���K? Aै䠂: 

A. 
=90 ल?�$ �=K >0्. B. -9ू. �I ल?�$ �=K �+0I}// 

C. .>}}0I �I :ै䠂!9लK� D. 9K्䵅.#�?लI} �+0I}// 

 

Q77. Time which is inherent, unavoidable and uneliminated is called ______. 

A. Abnormal idle time B. Idle time 

C. Normal idle time D. Overtime 

Q77. @/0 �K 
??}0=/A?, 
+91A?0= �1 
+}लK+0I0 AP, ______ �Aल??? AP । 

A. 
9?.?m/ -}_�्䵅/ �?ल B. -}_�्䵅/ �?ल 

C. 9?.?m/ -}_�्䵅/ �?ल D. 9./K+90 
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Q78. Formula for calculating labour turnover as per separation method is: 

A. Number of replacement / average labour force B. Number of separation / average labour force 

C. Number of separation + number of 

replacement / average labour force 

D. Labour force / Number of Replacement 

Q78. +-ृ-�1? +}// �O  
0I@?1 ्䵦/ +}ि0?}?= +91�9ल? �10O �? ,?/ू=ल? AP : 

A. ्䵚-$}%?+} �I 9K_/? / �9$ ्䵦. ?ल B. +%ृ=�0# �I 9K_/? / �9$ ्䵦. ?ल 

C. +%ृ=�0# �I 9K_/? + ्䵚-$}%?+} �I 9K_/? / �9$ ्䵦. 

?ल 

D. ्䵦. ?ल / ्䵚-$}%?+} �I 9K_/? 

 

Q79. _______ is systematic evaluation of the performance of employees. 

A. Job evaluation B. Labour productivity 

C. Merit rating D. Attitude assessment 

Q79. ________ �/=�?910ो䬂 �O  �?0=-}0�+?.0 �? }0}o}-? /ूल㉍0??�0 AP । 

A. �?/? .लू㉍/?K�} B. ्䵦. �m+?&�$? 

C. �I# ्䵦O#}/} D. 
9-=_ृm$ .लू㉍/?K�} 

 

Q80. Total of all indirect cost are called as: 

A. Overheads B. Prime cost 

C. Variable cost D. Semi variable cost 

Q80. @}I +1K� ल?�? �O  �I ल �K �A?O Aै䠂: 

A. �+0I}// B. .लू ल?�$ 

C. +90=$ी ल?�$ D. 
'?-+90=$ी ल?�$ 

 

Q81. Capacity of plant which is expected to be utilized over a long period based on sales 
expectation is called _____. 

A. Actual capacity B. Idle capacity 

C. Practical capacity D. Normal capacity 
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Q81. +}ि0 �I ्䵚त⑍0??? �O  �/?1 +1, ल?-I 
}// �O  9ल� ्䵚0K� ��� �?0O AO?I 
+O्䵌�? @?0?्䵔 �I �/?? �K _______ �A?O Aै䠂 
। 

A. =?}$==� ि.$? B. -}_�्䵅/ ि.$? 

C. }/?=:?90� ि.$? D. 9?.?m/ ि.$? 
 

Q82. _______ seeks to recognize the movements and flows of cost within the firm. 

A. Non integrated accounting system B. Control system 

C. Integral accounting system D. Efficiency system 

Q82. ,/= /े䜂 ल?�? �O  @?�ल0ो䬂 �1 ्䵚}?Aो䬂 �K 
9}/�o}0? �10O �O  9ल� _______ 
+0?� �??I AP । 

A. �}0 ��I�ृ$ लO�?K�} ्䵚#?लI B. -}/K्䵔# ्䵚#?लI 

C. 
==-?जᱍ/ लO�?K�} ्䵚#?लI D. &ि$? ्䵚#?लI 
 

Q83. The condition of increasing the contract price due to the unexpected loss caused to 
contractor by increase in price of materials wages are ______. 

A. Escalation clause B. Surplus clause 

C. Margin clause D. Cost plus clause 

Q83. @?//्䵇0ो䬂 �1 /�.1ूI �I �I/?ो䬂 /े䜂 -*K?1I द♍}?1?  O�O .?1 �K AI� 
0+O्䵌�? A?}0 �O  �?1?  O�O  �I �I/? /े䜂 -*Kत⑍?1I �I 
??= _______ AP । 

A. ??Km$0I �)! B. 
}'>O} �)! 

C. .?_�?} �)! D. ल?�$ oल9 �)! 
 

Q84. Income tax act came into force in _______. 

A. 1962 B. 1961 

C. 1956 D. 1971 

Q84. �0 �1 
//}00/ }?= _______ /े䜂 ल?�ू ��0? �0? । 

A. 1962 B. 1961 

C. 1956 D. 1971 
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Q85. Speculation loss can be carried forward up to ______. 

A. 4 years B. 8 years 

C. 5 years D. Cannot be carried forward 

Q85. 
0I/?0 �O  �?1? AI� A?}0 �K ______ ?� ��O लO �?0? �? @�?? AP । 

A. 4 =}? B. 8 =}? 

C. 5 =}? D. ��O }:IK लO �?/? �? 9�$? 
 

Q86. Ms. Aishwarya sold a BMW car for Rs. 80 lakhs, which was used exclusively for 
personal purpose. The car was acquired for Rs. 50 lakhs. What is the capital gain to be 
taxed? 

A. Rs. 30 lakhs B. Rs. 20 lakhs 

C. Rs. 0 D. Rs. 10 lakhs 

Q86. @I्䵦I ��}0?= 0O y. 80 ल?? /े䜂 
+0I -I.�/.!-ल㉍0ू. �?1 -O� .I o�@�? �}?O/?ल �O }ल }0�I ्䵚0K�0 �O  9ल� ��0? �??? 
-?। �@ �?1 �K y. 50 ल?? /े䜂 
o�=? ��0? �0? -?। �1 0K_0 +ूK�I�? लoबⱍ/ ��?0I AP ? 

A. y. 30 ल?� B. y. 20 ल?� 

C. y. 0 D. y. 10 ल?� 

 

Q87. Penalty for failure to keep, maintain or retain books of accounts u/s 44A of income tax 

act is _______. 

A. Rs 25000 B. Rs 50000 

C. Rs 2500 D. RS 5000 

Q87. �0�1 
//}00/ �I /?1? 44� �O  ?A? लO?? -/A0ो䬂 �K 1?0O, 
0I1�? �10O 0? /?91? �10O /े䜂 +},ल AK0O +1 
_______ �? �I/?=0? ल�?0? �??? AP । 

A. y. 25000 B. y. 50000 

C. y. 2500 D. y. 5000 

 

Q88. TDS as per income tax act implies: 

A. Tax collected at supplier B. Tax contributed at source 

C. Tax deducted at source D. Tax computation at source 
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Q88. �0 �1 �O  
0I@?1 �I.!I.�@. AP: 

A. +-ू$ ?�$?? द♍=?0? ��-्䵔$ �0 B. ्䵨K$ +0 9&/? �/? �0 

C. ्䵨K$ +0 �?�? �/? �0 D. ्䵨K$ +0 +90�9ल$ �0 
 

Q89. Which one of the following is the correct statement? 

Service tax is/an- 

A. Direct tax levied by the Central Government B. Indirect tax levied by the Central Government 

C. Direct tax levied by the State Government D. Indirect tax levied by the State Government 

Q89. �0/े䜂 @O �L0 @? �-0 @त⑍0 AP? 

@O}? �1 AP - 

A. �O m्䵖I/ 90�?0 द♍=?0? ल�?/? �?}O =?ल? ्䵚m/ि �0 B. �O m्䵖I/ 90�?0 द♍=?0? ल�?/? �?}O =?ल? +0Kि �0 

C. 0?जᱍ/ 90�?0 द♍=?0? ल�?/? �?}O =?ल? ्䵚m/ि �0 D. 0?जᱍ/ 90�?0 द♍=?0? ल�?/? �?}O =?ल? +0Kि �0 
 

Q90. In India the tax proceeds of which one of the following as a percentage of gross tax 

revenue has significantly declined in the last five years? 

A. Service tax B. Personal income tax 

C. Excise duty D. Corporation tax 

Q90. }?1? /े䜂 �1 @O ्䵚?o-?, o�@/े䜂 @O ��, @�ल �1 1?�}} �O  ्䵚}??? �O  z+ /े䜂 AP, ++�लO +?K� }?ो䬂 /े䜂 �ल㉍लO?0I0 z+ @O 
/�1?}� �� AP, }A -0? AP? 

A. 9O=? �0 B. -}�} �/ �0 

C. �m+?& >Iल㉍� D. -}�. �0 
 

Q91. Indirect material cost is a part of which of the following? 

A. Prime cost B. Factory overhead cost 

C. Chargeable expenses D. Written off expenses 

Q91. +1K� @?/्䵇I ल?�? �0/े䜂 @O ��@�? }?� AP ? 

A. .लू ल?�$ B. �?0�?}? �+0I}// ल?�$ 

C. ्䵚-?0-/K)/ }// D. ?्䴾O �?$O .े䜂 !?लO �� }// 
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Q92. Which among the following have not contributed to promotion of FDI in India? 

A. Setting up of Foreign Investment Promotion 

Board (FIPB) for prior approval of FDI which 

cannot be routed through automatic route. 

B. Setting of sectored caps for investment. 

C. Allowing FDI from Pakistan to enter the 

country. 

D. Enactment of Foreign Exchange Management 

Act (FEMA). 

Q92. }?1? /े䜂 �,.!I.��. �O  @?}/=0 �O  ्䵚}? �0/े䜂 @O ��@�? 0K�.?0 0AI? 1A? ? 

A. �,.!}.��. �O  +=ू? 
}I.K&} �O  9ल� ==&O>} -}=O> 9K='?} 

?K!? (�,.��.+}.?}.) �I }%?+}?, _�9O }=�?9ल$ .?�? �O  
़㰿90� }:IK ��/? �? 9�$? %? । 

B. -}=O> �O  9ल� 9O=�!? �} o9 �I }%?+}? । 

C. +?��}$?} 9O �,.!}.��. �K &O> .े䜂 ्䵚=O> �0}O �O  9ल� 


}I.-$ &O}?। 
D. ==&O>} ==-}./ ्䵚?K'} 
}'-}/. (�,.�.�..�.) �K 

}'-}/9.$ �0}? । 

 

Q93. Self Reliance in the economic context implies that a country: 

A. Meets its demand for all goods and services 

from its domestic production. 

B. Exports some of its goods but does not need to 

import anything. 

C. Has sufficient foreign exchange reserves to buy 

all its needs. 

D. Meets its demand for all vital goods and 

services from its domestic production. 

Q93. �/-=� +91्䵚O�0 /े䜂 �त⑍/-}0}=1?? �@ -?? +1 }0/A? AK?I AP �� .O? : 

A. 9-} .?ल �0 9O=?�K �I 
+}} .?K� 
+}O }=&O>} �m+?&} 

9O +0ू? �0$? :} । 
B. 
+}O �I � .?ल �? -}/??$ �0$? :} लO��} �9O �I � -} 
�/?$ �0}O �I ़㰿z0$ }:IK +)$}। 

C. 
+}} 9-} �=�/�$?�K �K �0I&}O �O  9ल� +/??o$ ==&O>} 
==-}./ ्䵚?0ि# .L�&ू :ै䠂 । 

D. 9-} 
m/?=�/� .?ल 9O=?�K �I 
+}} .?K� 
+}O }=&O>} 
�m+?&} 9O +0ू? �0$? :} । 

 

Q94. India dominates the world exports market because of: 

A. Currency manipulation B. High labour costs 

C. Low inflation and cost of inputs D. Administered pricing of products 

Q94. +}�} �O  }00?=? -?ज?1 /े䜂 �@ �?1? @O }?1? �? ्䵚?/?m0 AP - 

A. .I्䵖? +90�?ल} B. �चᩍ� ्䵦. ल?�$े䜂 

C. -}म⹍} },I-$ $%? -}=O> �I ल?�$ D. �m+?&ो䬂 �I -}&े9>$ �I.$े䜂 
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Q95. The world bank's environmentally sustainable Development Division has developed 

Green Index. Which one of the following is not a constituent of this index? 

A. Produced assets B. Natural assets 

C. Social assets D. Human resources 

Q95. +}�} -ै䠂� �O  +0?=}1? }0}=A0I0 +}�?@ ्䵚}?� 0O ्䵇I0 �?!O-@ +}�9@? ��0? AP । �0/े䜂 @O -0? �@ �?!O-@ �?  �� 0AI? AP? 

A. -}9.?$ +909K+_m$/?K B. ्䵚?�ृ-$� +909K+_m$/?K 

C. 9?.?_�� +909K+_m$/?K D. .?}= +909K+_m$/?K 
 

Q96. Which one of the following statements is not correct? 

A. A situation of twin deficit may or may not have 

an adverse impact on exchange rate. 

B. Maintaining a competitive exchange rate is one 

of the requisites for tackling a condition of twin 

deficit. 

C. Reduction in the spending on subsidies and 

enactment of measures to curb inflation are also 

essential for bringing the two deficits under 

control. 

D. Current Account Deficit can be overcome only 

through borrowing. 

Q96. �0/े䜂 @O �L0 @? �-0 @त⑍0 0AI? AP? 

A. &K  ?�ो䬂 �I _}%-$ �? ==-}./ &0 +0 ्䵚-$�ूल ्䵚-?= +) -} 
9�$? :} /? }:IK -} +) 9�$? :} । 

B. ?:0:?ल, &K  ?�ो䬂 �I _}%-$ �K 9K-?ल}O �O  9ल� ्䵚-$}+'ी 
==-}./ &0 ?}?� 0�}? �� �=�/�$? :} । 

C. &K}ो䬂  ?�ो䬂 �K -}/K्䵔# .े䜂 0�}O �O  9ल�, 
}I&?}ो䬂 +0 ��? .े䜂 
��L$} $%? .I्䵖?},I-$ +0 -}/K्䵔# 0�}O �O  �+?/ो䬂 �K ल?�ू 

�0}? -} �=>/्� :ै䠂 । 

D. �O =ल �'?0 लO�0 :I �?ल ूलO�?  ?�O 9O �?0? �? 9�$? :} । 

 

Q97. The period of first previous year for a new source of income which commenced in the 
mid of a calendar year will be _________. 

A. the balance months of the calendar year B. 12 months from the date of commencement of 

such new source of income 

C. More than 12 months of its assessment year D. The exact period of such income preceding to 

its assessment year 
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Q97. �0 �O  0� }K? �O  9ल� +AलO ++�लO }?= �I 
}//, �K �P ले䜂!1 }?= �O  //0् /े䜂 ?Iy AK?I AP, AK�I _________। 

A. �} ले䜂!0 =}? �O  >O} .?: B. �/ �O  �9O }� ्䵨K$ �O  ्䵚?0K- :K}O �I $?0I� 9O 12 .?: 

C. �9�O  -}'??0# =}? �O  12 .:I}ो䬂 9O 
}'� D. �9�O  -}'??0# =}? �O  +=ू?=$ी =}? .े䜂 �9} �/ �I 9�I� 


=}' 

 

Q98. How does the management ensures that the management decisions, policies and the 
procedures are followed in letter and spirit by all concerned? 

A. By arranging internal audit B. By arranging systems audit 

C. By organizing internal check D. By conducting surprise check 

Q98. ्䵚-?/0 0A �P @O @I}0o��? �1?? AP �� ्䵚-?/0 �O  }0?=0ो䬂, 0I}?0ो䬂 �1 ्䵚�ि0?�? �? @}= @?-?//?ो䬂 द♍}?1? 
�1 �1 }?} 

+?ल0 ��0? �??? AP? 

A. �K$90� लO�? +0Iि? �I }/=}%? �0 B. 99}�. लO�? +0Iि? �I }/=}%? �0 

C. �K$90� �?K� �/K_�$ �0 D. ��_}.� �?K� 9K�?9ल$ �0 
 

Q99. Continuous audit is useful because- 
1. more detailed checking is possible 

2. audit can be completed quite quickly 
3. figures in the accounts cannot be altered as the auditor visits several times during the 
year 
4. internal check can be done away with 

A. 1 and 2 are correct B. 2 and 4 are correct 

C. 2, 3 and 4 are correct D. 1, 3 and 4 are correct 

Q99. @?? ्लO?? +1I�? �+0K�I AP -0ो䬂�� -  

1. 
//� +}}??ृ �?K� @?}} AP 
2. लO?? +1I�? -)I ?O�I @O +ू1I �I �? @�?I AP 
3. लO?ो䬂 �O  �?�)ो䬂 �K -.ल? 0AI? �? @�?? -0ो䬂�� लO?? +1I�� }?= �O  .L1?0 
0O� -?1 .L1? �1?O Aै䠂 
4. �??91� �?K� �I �? @�?I AP 

A. 1 �0 2 9:I :ै䠂 B. 2 �0 4 9:I :ै䠂 

C. 2, 3 �0 4 9:I :ै䠂 D. 1, 3 �0 4 9:I :ै䠂 
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Q100. Which of the following is the Engel's law? 

A. As the income of a consumer increases, 

expenditure on food decreases. 

B. As the income of a consumer increases the 

expenditure on food increases. 

C. When the income of a consumer remains 

constant the expenditure on food remains 

constant. 

D. The expenditure on food remains constant 

irrespective of increase or decrease in consumer's 

income. 

 

 

 

Q100. �m�Oल �? }00/ �0/े䜂 @O �L0 @? AP ? 

A. �+-K=$? �I �/ ??$} :} $K �?द♍/ +&?%ो䬂 +0 }//  �$? 
:}। 

B. �+-K=$? �I �/ ??$} :} $K �?द♍/ +&?%ो䬂 +0 }// ??$? 
:}। 

C. �+-K=$? �I �/ _}%0 0:$} :} $K �?द♍/ +&?%ो +0 }// 

-} _}%0 0:$? :}। 
D. �+-K=$? �I �/ ??}O /?  �}O 9O 9K?K' } 0�$O :I�, 

�?द♍/ +&?%ो䬂 +0 }// _}%0 0:$? :}। 
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Q1. Fa-Hien was the first _______ monk to travel to India. 

A. Japanese B. Mongolian 

C. Chinese D. Tibetan 

Q1. ,?-9?0?) .?1$ �I 0?्䵔? �1)O =?ल? +?ल? _______ -.�I %?। 

A. �?+?0I B. /��K;ि00 

C. �I0I D. -?m-?I 
 

Q2. Martyr's day is celebrated in India on _________ every year. 

A. 5th September B. 14th February 

C. 21st June D. 30th January 

Q2. .?1$ /े䜂 >?I& 9&=9 ?1 9?ल _________ �K /)?0? �?$? ?P। 

A. 5 ;??o-1 B. 14 ,1=1I 

C. 21 �ू0 D. 30 �0=1I 
 

Q3. The river that does NOT drain into the Bay of Bengal is ________. 

A. Krishna B. Mahanadi 

C. Kaveri D. Narmada 

Q3. -��?ल �I �?)} /े䜂 )?I� ��1)O =?लI )&I ___________ ?P। 

A. �ृ�+? B. /9?0.I 

C. �?=O1I D. 0//.? 
 

Q4. Which one of the following GST rates is INCORRECT? 

A. 28 B. 16 

C. 18 D. 12 

Q4. ))म⹍)-ल��$ /े䜂 9O �L) 9} �}.ए9.�I. &1 �ल$ ?P? 

A. 28 B. 16 

C. 18 D. 12 

 
 

www.mseducationtv.com



 

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies  

Department, Haryana) 

 Evening Session 

 

September 15, 2017  Page 2 of 28 

 

Q5. Banabhatta was __________ in the court of King Harshvardhana. 

A. Court poet B. Minister 

C. Commander D. Royal Preceptor 

Q5. -?#.्䴾 1?�? ?}?=}?) �O  &1-?1 /े䜂 __________ %O। 

A. 
}-?0? �== B. /�्䵔I 

C. ?O0?+-? D. 1?��Iy 
 

Q6. Who was the first Chief Minister of Haryana? 

A. Chaudhary Devi Lal B. Shri Arjun Singh Gurjar 

C. Shri Bhagwat Dayal Sharma D. Sir Chotu Ram 

Q6. ?910?#? �O  �%/ /I_0/�्䵔} �L) %O? 

A. �L/1I .O=I ि?ि B. ्䵦I 
�I/0 ;?�9 �I�/1 

C. ्䵦I .?�=? .0?ि >/?/ D. ?1 �K�ू 1?/ 

 

Q7. The Tomb of Ibrahim Lodhi is situated in __________. 

A. Pinjore B. Gurugram 

C. Rewari D. Panipat 

Q7. �}?9?/ लK&I �I �} __________ /े䜂 }-%$ ?P। 

A. =+��L1 B. �Iy्䵇?/ 

C. 1O=?)I D. +?0I+? 

 

Q8. Who amongst the following opposed the concept of Pakistan and formed a separate 

group in the Punjab Assembly before Independence? 

A. Munshi Kishan Azad B. Sir Chotu Ram 

C. Allama Mohammed Iqbal D. Chaudhary Shyam Lal 

Q8. -=$�्䵔$? 9O +?लO +��?- ==}?)9.? /े䜂, ))म⹍)-ल��$ /े䜂 9O ��9)O +?��-$?) �I 
=}?1#? �? ==1K} ��0? �1 ए� 
ल� 

9/ू? �? � ) ��0?? 

A. /I�>I ��>0 ��?. B. ?1 �K�ू 1?/ 

C. 
ल㉍ि?/? /K9o/. ��-?ि D. �L/1I �0?/ ि?ि 
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Q9. Haryana cabinet recently approved extension of metro rail from Delhi to _________. 

A. Panchkula B. Hisar 

C. Rewari D. Sonipat 

Q9. ?910?#? /�}्䵔/�!ल )O ??ल ?I /े䜂 9&ल㉍लI 9O _________ $� /O्䵏K 1Oल �O  ==-$?1 �K /��ू1I &O &I ?P। 

A. +���I ि? B. 99??1 

C. 1O=?)I D. ?K0I+? 

 

Q10. How many sportspersons get the Bhim Award every year in Haryana? 

A. Two B. Eight 

C. Eleven D. Five 

Q10. ?910?#? /े䜂 ?1 9?ल ��$)O ��ल?))0ो䬂 �K .}/ +I1-�?1 -/ल$? ?P? 

A. .K 
B.  

C. _0?19 D. +?�� 

 

Q11. _________ is called the Millenium city of Haryana. 

A. Faridabad B. Rewari 

C. Noida D. Gurugram 

Q11. _________ �K ?910?#? �? -/लO))0/ >?1 �?? �?$? ?P। 

A. ,1I.?-?. B. 1O=?)I 

C. 0K�!? D. �Iy्䵇?/ 

 

Q12. _________ has been appointed as the new Attorney General. 

A. Soli Sorabjee B. G.E. Vahanvati 

C. Mukul Rohatgi D. K.K. Venugopal 

Q12. _________ �K )0? 
�I)ी �)1ल ))0I]$ ��0? �0? ?P। 

A. ?KिI ?K1?-�I B. �I.�. =?90=?I 

C. /I�I ि 1K9?�I D. �O .�O . =O+I�K+?ि 
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Q13. Who is the sponsor of the Chaudhary Devi Lal Outstanding All India Coordinated 

Research Project (AICRP) award? 

A. Food Safety and Standards Authority of India B. National Horticulture Board 

C. Indian Council of Agricultural Research D. National Cooperative Development Corporation 

Q13. �L}1I &O=} ल?ल �त⑍�ृ��1 
��ल .?1$}0 9/}==$ 
)I9�}?) +910K�)? (ए.��.9}.�1.+}.) +I1-�?1 �? �?0K�� �L) 

?P? 

A. .?1?I0 �?द♍0 ?I1�? �1 /?0� ्䵚?//�1+ B. 1?�रI0 -?�=?0I -K!/ 

C. .?1?I0 �ृ=? 
0I?�/?0 +91?. D. 1?�रI0 ?9�?1I ==�?? -0�/ 

 

Q14. Which of these was launched in Haryana to highlight the role of women in Swachh 
Bharat Mission? 

A. Swachh Shakti Saptah B. Nari Shakti Saptah 

C. Nari Mukti Saptah D. Nari Svasthiya Saptah 

Q14. -=चᩍ� .?1$ 
-.0?) /े䜂 /9?ल?�� �I .ू-/�? +1 ��?> !?ल)O �O  -लए ?910?#? /े䜂 �)/े䜂 9O ��9�I >Iरぁ�$ �I �� %}? 

A. }=चᩍ� >]-? ?o??9 B. 0?1I >]-? ?o??9 

C. 0?1I /I]-? ?o??9 D. 0?1I }=?}M0 ?o??9 
 

Q15. Who is popularly known as 'Kalidas of Haryana'? 

A. Pt. Neki Ram B. Surender Sharma 

C. Deep Chand Bahman D. Chauranginath 

Q15. ��=?े䜂 लK� o0?1 9O '?910?#? �? �?-ल&?9' �?$O ?ै䠂? 

A. +�)!? 0O�I 1?/ B. ?I1े䜂्䵖 >/?/ 

C. .I+ ��. -9/0 D. �L1��I0?- 

 

Q16. What is the prize amount of Mahakavi Surdas Samman award given by the Haryana 
Sahitya Academy? 

A. 5 lakh B. 1.50 lakh 

C. 2.50 lakh D. 1 lakh 
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Q16. ?910?#? 9?9?त⑍0 
�?&/} द♍=?1? 9&0? �0? /??�=} 9ू1&?9 9म⹍/?) �? +I1-�?1 1?-> ]0? ?P? 

A. 5 ि?� B. 1.50 ि?� 

C. 2.50 ि?� D. 1 ि?� 

 

Q17. The book, "Vastrabhushan Aur Haryanvi Lokgeet" is written by _______. 

A. Dr. Veenamani B. Madhu Kant 

C. Madan Gopal Shastri D. Dr. Deepika Rani 

Q17. +I-$�, "=-्䵔?.ू}# �1 ?910?#=} लK��}$ " �O  लO�� ________ ?ै䠂। 

A. !I =I0?/?0I B. //I �?�? 

C. /.0 �K+?ि >?}्䵔I D. !I .I=+�? 1?0I 
 

Q18. Who amongst the following is a renowned poet and folklore artist of Haryana? 

A. Dayachand Mayna B. Hemraj Nirmam 

C. Babu Balmukund D. Mohan Chopra 

Q18. ))म⹍)-ल��$ /े䜂 9O �L), ?910?#? �O  ए� �-9p �== �1 लK��}$ �ल?�?1 ?P? 

A. .0?��. /00? B. 9O/1?� -0/// 

C. -?-ू -?ि/I�I m. D. /K90 �K+)? 
 

Q19. Which amongst the following rivers rise from the Morni hills? 

A. Indori B. Dohan 

C. Tangri D. Krishnawati 

Q19. /K1)} +??))0ो䬂 9O ))म⹍)-ल��$ /े䜂 9O �L) 9} )&I ))�ल$} ?P? 

A. �m.K1I B. .K90 

C. �?��1I D. �ृ�+?=?I 
 

Q20. Which is the biggest lake of Haryana? 

A. Sukhna Lake B. Surajkund 

C. Brahma Sarovar D. Damdama lake 
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Q20. ?910?#? �I 9-9O -)} �}ल �L) 9} ?P? 

A. ?I�0? �Iि B. ?1ू��I� ! 

C. }}/? ?1K=1 D. ././? �Iि 

 

Q21. Where is National Dairy Research Institute (NDRI) located in Haryana? 

A. Ambala B. Karnal 

C. Rohtak D. Hisar 

Q21. ?910?#? /े䜂 1?�्䵏I0 !O01I 
)I9�}?) 9�-%?) (ए).!}.�1.��.) �??� ?P? 

A. 
�-?ि? B. �10?ि 

C. 1K9?� D. 99??1 
 

Q22. ___________ river separates Uttar Pradesh from Haryana. 

A. Kaveri B. Narmada 

C. Ganga D. Yamuna 

Q22. ___________ )&I �त⑍$1 �&O> �K ?910?#? 9O 
ल� �1$} ?P। 

A. �?=O1I B. 0//.? 

C. ���? D. 0/I0? 
 

Q23. Match the following and mark the correct option. 
 

 

A. A-II, B-I,C-III, D-IV B. A-II, B-IV,C-III, D-I 

C. A-I, B-IV,C-II, D- III D. A-IV, B-III,C-I, D-II 
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Q23. ))म⹍)-ल��$ �? -/ल?) �1े䜂 �1 9?I ==�ल㉍+ +1 ))>?) ल�?ए�। 
 

 

A. A-II, B-I,C-III, D-IV B. A-II, B-IV,C-III, D-I 

C. A-I, B-IV,C-II, D- III D. A-IV, B-III,C-I, D-II 

 

Q24. What is the official term of the Governor's office? 

A. 2 years B. 5 years 

C. 10 years D. 3 years 

Q24. 1?जᱍ0+?ल �O  +& �? ��}�?91� �?0?�?ल ��$)O =}? �? ?K$? ?P? 

A. 2 =?/ B. 5 =?/ 

C. 10 =?/ D. 3 =?/ 
 

Q25. Who amongst the following can call the joint sessions of two houses of Parliament? 

A. Speaker of Rajya Sabha B. Speaker of Lok Sabha 

C. Prime Minister of India D. President of India 

Q25. ))म⹍)-ल��$ /े䜂 9O �L), 9�9& �O  &K 9&)ो䬂 �O  9�0I]$ 9्䵔 -Iल? 9�$O ?ै䠂? 

A. 1?जᱍ0 ?.? 
o0� B. िK� ?.? 
o0� 

C. .?1? �O  ्䵚/?0/�्䵔I D. .?1? �O  1?�र+-? 

 

Q26. Which amongst the following is the second tier of Panchayati Raj? 

A. Gram Panchayat B. Zila Panchayat 

C. Village Panchayat D. Panchayat Samiti 
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Q26. ))म⹍)-ल��$ /े䜂 9O �L), +��?0$} 1?� �? &9ू1? -$1 ?P? 

A. ्䵇?/ +��?0? B. ]�ि? +��?0? 

C. ==िO� +��?0? D. +��?0? ?;/-? 

 

Q27. The Kalesar National Park of Haryana is famous for _____. 

A. monkeys B. birds 

C. tigers D. black Buck 

Q27. ?910?#? �? �?लO91 1?�्䵏I0 �द♍0?) _______ �O  -लए �-9p ?P। 

A. -�.1 B. +�I 

C. -?  D. �?ि? 991+ 

 

Q28. Faridabad is the biggest ________ city of Haryana and North India. 

A. Agricultural B. Industrial 

C. Cattle Rearing D. Rice Producing 

Q28. ,1I&?-?& ?910?#? �1 �त⑍$1 .?1$ �? 9-9O -)? ________ >?1 ?P। 

A. �ृ=? B. �द♍0K/�� 

C. +>I +?ि0 D. /?0 �m+?.� 

 

Q29. Which among the following districts is known for its furnishing fabrics and carpets? 

A. Panipat B. Rewari 

C. Ambala D. Mewat 

Q29. ))म⹍)-ल��$ /े䜂 9O �L) 9? }�ल?, 
+)O >?)&?1 �+)ो䬂 �1 �?लI)ो䬂 �O  -लए />?ू1 ?P? 

A. +?0I+? B. 1O=?)I 

C. 
o-?ि? D. /O=?? 
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Q30. Pick the odd one out: 

 
Cow, Goat, Dog, Calf 

A. Cow B. Dog 

C. Goat D. Calf 

Q30. 
9��$ �? �0) �1े䜂: 
 

�?0, -�1I, �I त⑍$?, -�)? 

A. �?0 B. �I m?? 

C. -�1I D. -�)? 
 

Q31. Find the analogy. 
 
TRAP : VPCN :: MIKE : ? 

A. ACHJ B. AJCN 

C. ENCF D. OGMC 

Q31. 9/?)$? "ू�"े䜂। 
 

TRAP: VPCN:: MIKE :? 

A. ACHJ B. AJCN 

C. ENCF D. OGMC 

 

Q32. Find the missing number: 
 
6, 10, 24, ?, 185 

A. 59 B. 64 

C. 81 D. 129 

Q32. 
)I+}-%$ 9�_0? _?$ �1े䜂: 
 
6, 10, 24, ?, 185 

A. 59 B. 64 

C. 81 D. 129 

 
 
 

www.mseducationtv.com



 

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies  

Department, Haryana) 

 Evening Session 

 

September 15, 2017  Page 10 of 28 

 

Q33. In a certain code, if A is coded as 1, B is coded as 2 and so on, then FADE is coded as: 

A. 2135 B. 6145 

C. 6234 D. 5462 

Q33. 09& ए� �K! .?}? /े䜂, 09& A �K 1 -ल�? �?$? ?P, B �K 2 -ल�? �?$? ?P, �1 �9} $1? 0? ्䵅/ �ल$? 1?$? ?P, $K 
FADE �K ]0? -ल�? �?ए�?? 

A. 2135 B. 6145 

C. 6234 D. 5462 

 

Q34. (30)2 - (20)2 + (2)5 = __________ 

A. 256 B. 345 

C. 467 D. 532 

Q34. (30)2 - (20)2 + (2)5 = __________ 

A. 256 B. 345 

C. 467 D. 532 

 

Q35. If P(A) = 0.23, P(B) = 0.18 and P(A ∩ B ) = 0.12, find P(A U B). 

A. 0.29 B. 0.32 

C. 0.19 D. 0.46 

Q35. 09& P(A) = 0.23, P(B) = 0.18 �1 P(A ∩ B ) = 0.12 ?K $K P(A U B) �? /?) ))�?ले䜂। 

A. 0.29 B. 0.32 

C. 0.19 D. 0.46 

 

Q36. 7 is what percent of 91000? 

A. 110% B. 120% 

C. 130% D. 140% 

Q36. 7, 91000 �? ��$)? �)$>$ ?P? 

A. 110% B. 120% 

C. 130% D. 140% 
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Q37. Amit buys 10 kg of cashewnuts at Rs.890 per kg and sells it at Rs.1900 per kg. Find 

the profit earned by him. 

A. 9800 B. 10100 

C. 11890 D. 12450 

Q37. 
-/$ 890 रぁ+0O �)$ ��लK्䵇?/ �I &1 9O 10 ��लK्䵇?/ �?� ू�1I&$? ?P, �1 �9O 1900 रぁ+0O �)$ ��लK्䵇?/ �I &1 9O 
-O�$? ?P। �9�O  द♍=?1? 
}�?$ ल?. �? +$? ल�?ए�। 

A. 9800 B. 10100 

C. 11890 D. 12450 

 

Q38. __________ is the synonym of "FERVOUR". 

A. Truth B. Clarity of thought 

C. Forcefulness D. Passion, enthusiasm 

 

Q39. _________ is the antonym of "ATTENTIVE". 

A. Careful B. Caring 

C. Distracted D. Focused 

 

Q40. Identify the meaning of the idiom. 
 
"Blessing in disguise." 

A. A hidden sacred symbol B. Something good that is not recognized at first 

C. A "go-ahead" from a holy person D. Understand the meaning of a dream 

 

Q41. The sentence given below may contain one or more mistakes. Identify the correct 

sentence. 
 
"Last week, the Government issues warnings of the cyclone." 

A. Last week, the Government issued warnings 

about the cyclone. 

B. The Government last week issued warnings of 

the cyclone. 

C. Last week, the Government was issuing 

warnings about the cyclone. 

D. Last week, the Government made warnings 

about the cyclone. 
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Q42. Complete the sentence by choosing the correct form of the verb given in brackets. 

 
Rahul______ (like) to eat out every day. 

A. liked B. likes 

C. is like D. like 

 

Q43. An example of vector quantity is _________. 

A. Volume B. Acceleration 

C. Temperature D. Mass 

Q43. _________ 99&> 1?-> �? ए� �&??1# ?P। 

A. �0?0 B. m=1+ 

C. ??+/?0 D. ्䵖}0/?0 

 

Q44. The electrons in the outermost shell of an atom are called _________ electrons. 

A. Valence B. Bonding 

C. Atomic D. Stable 

Q44. ए� +1/?#I �O  9-9O -??1I �K1 /े䜂 /L�ू& �लO]्䵏I)ो䬂 �K _________ �लO]्䵏I) �?? �?$? ?P। 

A. =Pिे䜂? B. -I]m!�� 

C. ��K;/� D. }�O-ि 

 

Q45. Which one of these gases is not a greenhouse gas? 

A. Carbon dioxide B. Methane 

C. Chlorofluorocarbons D. Oxygen 

Q45. �)/े䜂 9O �L) 9} �P9 ए� ्䵇})??�9 �P9 )?I� ?P? 

A. �?-/0 !?� �-??�! B. /I-O0 

C. -िK1KoिK1K�?-/0 D. �-?I�0 
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Q46. ))म⹍) >बⱍ& �? +0??0=?�} >बⱍ& -$?�0े䜂 | 

 

9/ू? 

A. �.// B. .?1? 

C. �+ D. 91+I 
 

Q47. ))म⹍) >बⱍ& �? ==+1I$ (==लK/) 
%? -$?�0े䜂 | 

 


)I1?� 

A. ==9��/ B. ==1?� 

C. ्䵚O/ D. }0O9 
 

Q48. )}�O -ल�O /I??=1O �? ���$ 
%? -$?0े䜂 | 

 


�$ .ल? $K 9- .ल? 

A. /1?O =-? ?.I �I .ि?� �10? B. 09. �?0/ �? 
�? 
चᩍ�? 9K �?0O ?K +1ू? �?0/ ?,ि 9K?? 9P 

C. .ि? �1�O  .िू �?0? D. �ि? �?/ �1�O  
चᩍ�O 9K0O �? 9.�?=? �10? 
 

Q49. )}�O -ल�O >बⱍ& �? -?I=�) -)?0े䜂| 

 

��ू1 

A. ��1ूO B. ��I1O 

C. ��1ूे䜂 D. ��1ूP 
 

Q50. )}�O -ल�O >बⱍ& �? -?I=�) -)?0े䜂| 

 

�I 1I 

A. �ू1I0? B. �I 1I0? 

C. �I 910? D. �I 910?? 
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Q51. Securities premium will be shown in Balance Sheet under the head of ___________. 

A. Miscellaneous expenses B. Reserves & Surplus 

C. Loans & advances D. Current Assets 

Q51. �)$.ू)$0ो䬂 �O  �}-/0/ �K $Iल)-+्䵔 /े䜂 ___________ >}}? �O  $?$ &>??0? �?ए�? । 

A. ====/ }00 B. ्䵚?1�+ �=� 
//>O? 

C. �+ �=� 
/्䵇/ D. �?िू +91?�+]m?0?? 
 

Q52. Error relating to fundamental aspect is: 

A. error of principle B. error of commission 

C. error of compensating D. error of omission 

Q52. �}?1.ू$ +?लI 9O 9�-��}$ ्䵔I9� ?P : 

A. ;?o?�? �I ्䵔I9� B. �/I>0 �I ्䵔I9� 

C. ्䵚-?+1ू+ �I ्䵔I9� D. .िू-��ू �I ्䵔I9� 
 

Q53. Profit or loss on revaluation is shared by old partners in _____. 

A. old profit sharing ratio B. new profit sharing ratio 

C. sacrificing ratio D. gaining ratio 

Q53. +I)/ू?ल㉍0?��) +1 ल?. 0? ??)) �K +I1?)O 9?�O&?1ो䬂 द♍=?1? _____ /े䜂 -?��? �?$? ?P । 

A. +I1?0O ि?. ==.?�0 
0I+?? B. 0� ि?. ==.?�0 
0I+?? 

C. m0?�++ू/ 
0I+?? D. ि]m/ 
0I+?? 

 

Q54. Selection of accounting policies appropriation is not based on ______. 

A. Prudence B. Amount involved 

C. Substance over form D. Materiality 

Q54. )})$0?? ==))0K�) �? �0) _____ +1 �}?91$ )?I� ?K$? ?P । 

A. ===O� B. >?;/ि 1?;> 

C. ?m?े䜂� �=1 ,?// D. .L-?�m= 
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Q55. If the closing stock is increased by 6000 and gross profit ratio by 10%, then the gross 

profit will: 

A. Increase by 6000 B. Increase by 600 

C. Increase by 10% D. No change 

Q55. 
�)$/ -�I� �K 6000 $� -*?0? �?$? ?P �1 9�ल ल?. 
)I+?$ �K 10% $� -*?0? �?$? ?P, $K 9�ल ल?. : 

A. 6000 ?� -*O�? B. 600 ?� -*O�? 

C. 10% ?� -*O�? D. �K� +91=?/0 09I� 9K�? 
 

Q56. The credit balance in the ledger account shows - 

A. revenue or an asset B. expense or an asset 

C. expense or a liability D. revenue or a liability 

Q56. �?$O /े䜂 �/? >O} &>??$? ?P - 

A. 1?�}= 0? +91?�+]m? B. }00 0? +91?�+]m? 

C. }00 0? .O0?? D. 1?�}= 0? .O0?? 
 

Q57. Cost of goods sold is Rs.10,000, opening stock is Rs.2,000 and closing stock is Rs. 
3,000. Find the cost of purchase. 

A. Rs.10,000 B. Rs.11,000 

C. Rs.15,000 D. Rs.9,000 

Q57. -O�O �ए /?ल �I ल?�$ रぁ.10,000 ?P, �?1�-.� -�I� रぁ.2,000 ?P �1 
�)$/ -�I� रぁ.3,000 ?P। ्䵅0 �I ल?�$ -$?ए?। 

A. y.10,000 B. y.11,000 

C. y.15,000 D. y.9,000 

 

Q58. Cost of goods sold is Rs.80,700 ; opening stock is Rs.5,800 ; closing stock is Rs.6,000 ; 
then the cost of purchases is Rs. ____. 

A. 80,500 B. 74,900 

C. 74,700 D. 80,900 
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Q58. -O�O �ए /?ल �I ल?�$ रぁ. 80,700 ?P ; �?1�-.� -�I� रぁ. 5,800 ?P ; 
�)$/ -�I� रぁ. 6,000 ?P ; $K ्䵅0 �I ल?�$ रぁ. 
____ ?K�} । 

A. 80,500 B. 74,900 

C. 74,700 D. 80,900 

 

Q59. Fixed assets are double the current assets and half the capital. The current assets are 
Rs. 3,00,000 and investments are Rs. 4,00,000. Then the current liabilities recorded in 
balance sheet will be ________. 

A. 2,00,000 B. 1,00,000 

C. 3,00,000 D. 4,00,000 

Q59. 
�ल +919�+}त⑍$0??, �?ल ू+919�+}त⑍$0ो䬂 �I &K�I)} �1 +ू?�} 9O �}} ?ै䠂 । �?ल ू+919�+}त⑍$0?? रぁ. 3,00,000 ?ै䠂 �1 ))=O> 

रぁ. 4,00,000 ?P । $K $Iल)-+्䵔 /े䜂 &�? �I �?)O =?लI �?ल ू&O0$?ए? रぁ. ________ ?ो䬂�} । 

A. 2,00,000 B. 1,00,000 

C. 3,00,000 D. 4,00,000 

 

Q60. Mr. A sold goods for Rs.50,000 which includes a sale to a customer for Rs.5,500 at a 
cost + 10%, but these goods were still in godown at the risk of buyer. The total sales to be 
recorded is _____. 

A. Rs.50,000 B. Rs.50,500 

C. Rs.49,450 D. Rs.49,400 

Q60. ्䵦}/?) A )O रぁ. 50,000 �? /?ल -O�? }�9/े䜂 ए� ्䵇??� �K ल?�$ + 10% /े䜂 रぁ. 5,500 /े䜂 -O�? �0? /?ल >?-/ल ?P, 
लO��) 0O /?ल 
- .} ्䵅O $? �I �K��/ +1 �K&?/ /े䜂 1�O ?ै䠂 । &�? ��0? �?)O =?ल? �I ल ==्䵅0 ____ ?K�? । 

A. y.50,000 B. y.50,500 

C. y.49,450 D. y.49,400 

 

Q61. The statutory auditor of a Government Company submits his report to _______. 

A. the BODs of the company B. the Legislature 

C. the C & AG D. the company secretary 

Q61. ए� 91�?1I �� +)} �? 9?�==�}� लO�? +1I�� 
+)} 91+K�? _______ �K +O> �1$? ?P । 

A. �� +0I �O  -0.O>� /�!ि B. ==/?0 /�!ि 

C. ?I. ��! �.�I. D. �� +0I ?/�= 
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Q62. Audit of transaction does not include - 

A. Propriety audit B. Efficiency - cum performance audit 

C. Audit of receipts D. Audit of expenditure 

Q62. लO)-&O) �I लO�? +1I�? /े䜂 0? >?-/ल )?I� ?K$? ?P - 

A. }=?;/m= िO�? +1I�? B. .�??-?9- �?0/ -0�+?.0 िO�? +1I�? 

C. ्䵚?]o?0ो䬂 �I िO�? +1I�? D. }00 �I िO�? +1I�? 
 

Q63. Which of the following report will not result in qualification of the auditor's opinion 
due to a scope limitation? 

A. Restrictions the client imposed B. Reliance on the report of other auditor 

C. Inability to obtain sufficient appropriate 

evidential matter 

D. Inadequacy of accounting records 

Q63. �)/े䜂 9O �L) 9} 91+K�? �?0?�O्䵔 �I 9}/? �O  �?1# लO�? +1I�� �O  ==�?1 �I 0K_0$? /े䜂 +91#?-/$ )?I� ?K�}? 

A. ्䵇?9� द♍=?1? 
//1K=+? ्䵚-?-�/ B. 
m0 िO�? +1I�� �I 91+K�/ +1 ==�=?? 

C. +0?/o? ?/I/�? ??�0 ?�-�/I ==?0 ्䵚?o? �10O /े䜂 
?/-/?? D. िO�? 
;.िO�ो䬂 �I 
+0?/o??? 
 

Q64. The auditor of a Government company is appointed by the C & AG. His remuneration is 

fixed by _____. 

A. the C & AG B. the shareholders at an annual general meeting 

C. the shareholders D. the board of directors 

Q64. 91�?1I �� +)} �O  लO�? +1I�� �I ))0I}]$ 9}. ए�! ए.�}. द♍=?1? �I �?$} ?P । �)�? +?91्䵦-/� ____ द♍=?1? $0 ��0? 
�?$? ?P । 

A. ?I ��! �.�I. B. =?=?/� ??/?m0 -P � /े䜂 >O01/?1� 

C. >O01/?1� D. -0.O>� /�!ि 

 

Q65. Which of the following Auditing Assurance Standard deals with Audit Planning? 

A. AAS 7 B. AAS 8 

C. AAS 9 D. AAS 3 
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Q65. �)/े䜂 9O �L) 9} लO�? +1I�? ��=?9) /?)� लO�? +1I�? �I 0K�)? 9O 9�-��}$ ?P? 

A. �.�.�?. 7 B. �.�.�?. 8 

C. �.�.�?. 9 D. �.�.�?. 3 

 

Q66. Which of the following best describes the primary purpose of audit programme 

preparation? 

A. To detect errors or fraud B. To comply with GAAP 

C. To gather sufficient appropriate evidence D. To assess audit risk 

Q66. �)/े䜂 9O �L) 9? ==�ल㉍+ लO�? +1I�? �?0?्䵅/ �I $P0?1I �? �?%-/� �oO�0 �K 9=ोत⑍$/ "�� 9O =�#?$ �1$? ?P? 

A. ्䵔I9�0ो䬂 0? �+�++ू/ �?0ो䬂 �? +?? ि�?0? B. �I.�.�.+I. �? 
0I+?ि0 �10? 

C. +0?/o? �+0I-? ??�0 �� Ò �10? D. िO�? +1I�? �K��/ �? /लू㉍0?��0 �10? 
 

Q67. Which of the following factors would least likely affect the quantity and content of an 
auditor's working papers? 

A. The assessed level of control risk B. The possibility of peer review 

C. The nature of auditor's report D. The content of management representation 

letter 

Q67. �)/े䜂 9O �L) 9? �?1� लO�? +1I�� �O  �?/�?�} &-$?=O�ो䬂 �I �/?्䵔? �1 9?/्䵇} �K 9-9O �/ �.?==$ �1O�?? 

A. -00�्䵔+ �K��/ �? /लू㉍0?���? }?1 B. ?1?1I ?L1 +1 ?/I�? �I ?�.?=0? 

C. िO�? +1I�� �I 91+K�/ �I ्䵚�ृ-? D. ्䵚-�/0 �O  
m0?=O.0 +्䵔 �I ??/्䵇I 
 

Q68. The nature, timing and extent of substantive procedures is related to assessed level of 
control risk _______. 

A. randomly B. disproportionately 

C. directly D. inversely 

Q68. /L-ल� ��्䵅0?�� �I ��ृ)$, 9/0-))}??1# �1 9}/? ))0�्䵔# �K��/ �O  /ूल㉍0?���$ -$1 9O _______ 9�-��}$ ?P । 

A. 0?द♃]चᩍ�� z+ ?O B. 
??0I+??I z+ ?O 

C. ्䵚m0� z+ ?O D. }0Imर;/? z+ ?O 
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Q69. Which of the following is likely to be classified as a direct material cost of a motor car 

wheel? 

A. The metal used to manufacture it. B. The metal used to manufacture one of the tools 

used in the car wheel factory. 

C. The cost of operating the raw material stores in 

the factory. 

D. The cost of the quality operation on the 

finished car wheels. 

Q69. /K�1 �?1 �O  +9?ए �I �त⑍0� 9?/्䵇} ल?�$ �K �)/े䜂 9O ��9/े䜂 =�ी�ृ$ ��0? �?)? 9�.?==$ ?P? 

A. �?O -0?0O /े䜂 ्䵚0I-? /??I । B. �?1 +990? �?1�?0O /े䜂 ्䵚0I-? �� ��?1 �O  -0/?/+ /े䜂 
्䵚0I-? /??I । 

C. �?1�?0O /े䜂 �चᩍ�O /?ि �O  .�!?1 �K ्䵚�?;ि? �10O �I ि?�? 

। 
D. ?P0?1 �?1 +990ो䬂 +1 �I+?? ्䵚�?ि0 �I ि?�? । 

 

Q70. The first in, first out method of pricing raw material issues, exhibits which one of the 
following features? 

A. The issue price is recalculated each time new 

deliveries are made into stock. 

B. The issue price is always at the latest price. 

C. The goods are always issued strictly in the 

physical order in which they are received. 

D. The issue price is always at the earliest price. 

Q70. �चᩍ�O /?ल �O  ��0ू �O  �I/$ ))}??1# �I ,-�?-�), ,-�?-��� ==�} �)/े䜂 9O �L) 9} ==}O}$? -$ल?$} ?P? 

A. ्䵚m0O� -?1 �- }�I� /े䜂 0� ?I+I./�I 9K?I 9P, ��0ू �I/? �? 
+I0: +91�ि0 ��0? �??? 9P । 

B. ��0ू �I/? 9/O>? 0=I0?/ �I/? 9K?I 9P । 

C. /?ि �K 9/O>I ?_?I ?O �?I .L-?� र/ /े䜂 �?1I ��0? 
�??? 9P ]�?/े䜂 �m9े䜂 ्䵚?o? ��0? �0? 9P । 

D. ��0ू �I/? 9/O>? ?-?O +9िO �I �I/? 9K?I 9P । 

 

Q71. Which of the following is not a method of pricing raw material issued from stock? 

A. Standard costing B. Unit cost 

C. Marginal cost D. Continuous weighted average 

Q71. �)/े䜂 9O �L) 9} ==�} -�I� 9O �?1I �चᩍ�O /?ल �I �I/$ ))}??91$ �I ==�} )?I� ?P ? 

A. /?0� ि?�?--0/?/1+ B. ��?� ि?�? 

C. /?]�/0ि ि?�? D. -01�?1 .?91? �?? 
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Q72. Which of the following is a direct labour cost? 

A. Supervisors' salaries in the factory. B. Costs of the payroll accounting section. 

C. A bonus paid to the store man. D. The wages of an operative paid on the basis of 

output achieved. 

Q72. �)/े䜂 9O �L) 9? �त⑍0� ्䵦/ ल?�$ ?P? 

A. �?1�?0O /े䜂 +0/=O�� �? =O?0 । B. =O?0+_I िO�? 
0I.?� �I ि?�? । 

C. }�K1 /P0 �K 9.0? �0? -K0? । D. ्䵚?o? ���+I� �O  �/?1 +1 �+1O�1 �K 9.0? �0? =O?0 । 
 

Q73. Production overheads are absorbed into production units by the use of an overhead 
absorption rate. Which one of the following best describes how the absorption rate is 
calculated? 

A. Total number of units produced divided by the 

total cost centre overheads. 

B. Total number of units produced multiplied by 

the unit overhead cost. 

C. Total cost centre overheads divided by the cost 

centre activity level. 

D. Total indirect costs for the business divided by 

the total number of units produced. 

Q73. �त⑍+?&) �O  �+1I}00ो䬂 �K ए� �+1I}00 
=>K}# &1 �? �0K� �1$O ?Iए �त⑍+?&) �I ��?�0ो䬂 /े䜂 
=>K=}$ ��0? �?$? ?P 
। 
=>K}# &1 �? +91�ल) �P 9O ��0? �?$? ?P, �9�? =#?) �)/े䜂 9O �L) 9? ==�ल㉍+ 9=ोत⑍$/ "�� 9O �1$? ?P? 

A. -0;//? ��?�0ो䬂 �I �I ि ?�_0? �K �I ि ि?�? �O m्䵖 
�+1I}00ो䬂 ?O .?� .O�1। 

B. -0;//? ��?�0ो䬂 �I �I ि ?�_0? �K ��?� �+1I}00 ि?�? ?O 
�I+? �1। 

C. �I ि ि?�? �O m्䵖 �+1I}00ो䬂 �K ि?�? �O m्䵖 �?0/ }?1 ?O 
.?� .O�1। 

D. �?1K-?1 �O  ;ि� �I ि +1K� ि?�? �K -0;//? ��?�0ो䬂 �I 
�I ि ?�_0? ?O .?� .O�1। 

 

Q74. XYZ Ltd has a labour intensive assembly department. Which of the following methods 
of absorbing overheads is likely to be used for that department? 

A. Direct labour hours method B. Direct labour cost method 

C. Direct material cost method D. A percentage of prime cost 

Q74. XYZ -ल-/�O! /े䜂 ्䵦/ �?) 
9Oम⹍-लI ==.?� ?P। �9 ==.?� �O  -लए �+1I}00ो䬂 �? 
=>K}# �1)O �O  -लए �)/े䜂 9O ��9 

==�} �? �0K� ��ए �?)O �I 9�.?=)? ?P? 

A. ्䵚m0� ्䵦/  o�? ==// B. ्䵚m0� ्䵦/ ि?�? ==// 

C. ्䵚m0� ??/्䵇I ि?�? ==// D. /िू ि?�? �I ्䵚-?>??? 
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Q75. If unexpired insurance appears in the trial balance, it is shown on the :- 

A. Asset side of the balance sheet B. Liability side of the balance sheet 

C. Note under the balance sheet D. Trial balance 

Q75. 09& >O} +1I�# /े䜂 
9/?o$ -}/? &>??0? �?$? ?P $K �9O 0??? 9&�?0? �?ए�? - 

A. ?Iि0-+्䵔 �O  +91?�+]m? +� /े䜂 B. ?Iि0-+्䵔 �O  .O0?? +� /े䜂 

C. ?Iि0-+्䵔 �O  
�?�/? 9�o++I �O  z+ /े䜂 D. >O? +1I�+ 

 

Q76. Which of the following is not an essential feature of a budget? 

A. There is a clearly defined budget period. B. It is a combination of financial and non-

financial data set by reference to key budget 

assumptions. 

C. It permits managers flexibility in terms of the 

policies that should be pursued to meet corporate 

objectives. 

D. It has been formally approved and accepted as 

realistic by managers. 

Q76. �)/े䜂 9O �L) 9? ==�ल㉍+ -�� �I ए� �=�0� ==>O}$? )?I� ?P? 

A. }+�� z+ ?O +91.?=?? -�� 
=// 9K?I 9P । B. 09 ==m?I0 ?-? �P1-==m?I0 ���)ो䬂 �? ?�0K�0 9P �K ्䵚/I� 

-��I0 /?m0??�� �O  ?�../ द♍=?1? -0/?/91? ��� �??O 9ै䠂 । 

C. 09 �0 0I-?0ो䬂 �O  +91्䵚O�0 /े䜂 ्䵚-�/�ो䬂 �I िK�?? 
0I/? 

�1?? 9P ]�0�? +?ि0 �?+ो1O� �oO�0ो䬂 �K ्䵚?o? �10O �O  ;ि� 

��0? �?0? �?99� । 

D. �?O ्䵚-�/�ो䬂 द♍=?1? 0-?-/ z+ /े䜂 �+�?91� ?1I�O  ?O 

0I/K9.? �1 }=I�?1 ��0? �0? 9P । 

 

Q77. A master budget comprises - 

A. A budgeted balance sheet B. A budgeted balance sheet and profit and loss 

account 

C. A budgeted balance sheet, profit and loss 

account and cash flow statement 

D. A budgeted balance sheet, profit and loss 

account, cash flow statement based upon 

coordinated departmental operating budgets 

Q77. /?-�1 -�� /े䜂 ?K$? ?P - 

A. -�9�? ?Iि0-+्䵔 B. -�9�? ?Iि0-+्䵔 �=� ि?. = 9?-0 �??? 

C. -�9�? ?Iि0-+्䵔, ि?. = 9?-0 �??? �1 0�.I ्䵚?]o? 

===1+ 

D. ?/]m=? ==.?�I0 ्䵚�?ि0I0 -��ो䬂 �O  �/?1 +1 -�9�? 

?Iि0-+्䵔, ि?. = 9?-0 �???, 0�.I ्䵚?]o? ===1+ 
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Q78. A flexible budget is - 

A. One where departmental functional managers 

are given discretion over the application of 

spending limits. 

B. One where the budget is permitted to alter to 

reflect changes in activity levels. 

C. One where managers are given discretion as to 

the investigations which are carried out into 

variances revealed by budgetary control reports. 

D. One which allows departmental managers to 

design their own budgetary control reports. 

Q78. लK�&?1 -�� ?P - 

A. ]�?/े䜂 ==.?�I0 �?0/>Iि ्䵚-�/�ो䬂 �K ��/ �10O �I ?I/?�� 
�O  
0I्䵚0K� +1 ===O�?//�?1 9.0? �??? 9P । 

B. �9?? �?0/�ि?+ो䬂 �O  }?1ो䬂 /े䜂 +91=?/0 .>?/0O 9O?I ?I/?1 �10O 
�I 
0I/-? 9K?I 9P । 

C. �9?? ्䵚-�/�ो䬂 �K �?O �??�-+)??ि �10O �? ===O�?//�?1 
9.0? �??? 9P ]�m9े䜂 -��I0 -00�्䵔+ 91+K�ो䬂 द♍=?1? _?? +91=?/0ो䬂 
/े䜂 ��0? �??? 9P । 

D. ]�?/े䜂 ==.?�I0 ्䵚-�/�ो䬂 �K 09 
0I/-? .I �??I 9P �� =O 

+0I -��I0 -00�्䵔+ 91+K�/ �? 
;.�ल㉍+ ?P0?1 �1 ?�े䜂  । 

 

Q79. In a manufacturing company, which of the budgets will normally be prepared first in 
the budget preparation cycle? 

A. The stock budget B. The production budget 

C. The cash flow forecast D. The sales budget 

Q79. ए� ))/??#} �� +)} /े䜂, -�� $P0?1I �्䵅 /े䜂 9?/?=0$: ��9 ��?1 �? -�� 9-9O +?लO $P0?1 ��0? �?ए�?? 

A. }�I� -�� B. �m+?.0 -�� 

C. 0�.I ्䵚?]o? �? +=ू?/0I/?0 D. ==र0 -�� 
 

Q80. The administration of the budget process in a large organization is normally the 
responsibility of: 

A. The board of directors B. The audit committee 

C. The chief executive D. A budget committee working in conjunction 

with the finance function 

Q80. -)O 9�� ) /े䜂 -�� $P0?1 �1)O �I ��्䵅0? 9?/?=0$: �)�I }�म⹍/O&?1I ?K$} ?P - 

A. -0.O>� /�!ि B. िO�? +1I�? ?;/-? 

C. /I_0 �?0/+?ि� D. ==m?I0 �?0/ �O  ??- �?0/1? -�� ?;/-? 
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Q81. Which of the following statements is valid? 

A. The Budget Committee should set the budgets 

for cost centre managers. 

B. Cost centre managers should prepare their own 

budgets. 

C. Management accountants should prepare 

budgets for cost centre managers. 

D. Senior management should prepare cost centre 

budgets. 

Q81. �)/े䜂 9O �L) 9? �%) =P} ?P? 

A. -�� ?;/-? �K ि?�? �O m्䵖 ्䵚-�/�ो䬂 �O  ;ि� -�� ?0 

�10? �?99� । 
B. ि?�? �O m्䵖 �O  ्䵚-�/�ो䬂 �K �0�O  
+0O -�� ?P0?1 �10O 
�?99� । 

C. ्䵚-�/0 िO�?�?1ो䬂 �K ि?�? �O m्䵖 �O  ्䵚-�/�ो䬂 �O  ;ि� -�� 
?P0?1 �10? �?99� । 

D. =91�  ्䵚-�/0 �K ि?�? �O m्䵖 -�� ?P0?1 �10? �?99� । 

 

Q82. A standard cost which will be most useful for control purposes is one which: 

A. Contains no allowances for normal losses or 

other forms of wastage. 

B. Is set in advance of the control period and 

which then remains unchanged. 

C. Contains a reasonable degree of allowances for 

operating inefficiencies. 

D. Managers are expected to achieve at all times. 

Q82. /?)� ल?�$ �K ))0�्䵔# �O  �0K�)?%? 9=??�}� �+0K�} ?K�?, =? ?P }�9/े䜂 /�K - 

A. ??/?1+ 9?-00ो䬂 0? 
m0 ्䵚�?1 �O  
+;>��ो䬂 �O  ;ि� �K� 
.m?? >?;/ि 09I� 9K?? । 

B. -00�्䵔+ 
=// �O  
/्䵇/ /े䜂 ?0 ��0? �??? 9P �1 �K 

+91=-?/? -0? 19?? 9P । 

C. ्䵚�?ि0I0 
�/??�� �O  ;ि� ?/I/�? /?्䵔? /े䜂 .m?O >?;/ि 

9K?O 9ै䠂 । 
D. ्䵚-�/�ो䬂 ?O 9/O>? 9?;?ि �10O �I 
+O�? �I �??I 9P । 

 

Q83. Direct material total variances can be analyzed into: 

A. Efficiency and price variances B. Price and productivity variances 

C. Price and usage variances D. Efficiency and usage variances 

Q83. �त⑍0� 9?/्䵇} �I ल +91=$? �? ==�लO}# �9/े䜂 ��0? �? 9�$? ?P - 

A. .�?? �=� �I/? +91=?/ B. �I/? �=� �m+?.�?? +91=?/ 

C. �I/? �=� �+0K� +91=?/ D. .�?? �=� �+0K� +91=?/ 
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Q84. Where the entire block of the depreciable asset is transferred after 36 months, there 

will be: 

A. Short-term capital gain B. Long-term capital gain 

C. Short-term capital gain or loss D. Long-term capital gain or loss 

Q84. �??? /ूल㉍0्䵩?9-0K_0 +919�+}त⑍$ �O  9म⹍+ू#? बⱍल?� �K 36 /?I)ो䬂 �O  -?& 
�$91$ ��0? �?$? ?P, =??? - 

A. 
ल㉍+�?िI0 +ू?�I ि]m/ 9K�? B. .I /�?िI0 +ू?�I ि]m/ 9K�? 

C. 
ल㉍+�?िI0 +ू?�I ि]m/ 0? 9?-0 9K�? D. .I /�?िI0 +ू?�I ि]m/ 0? 9?-0 9K�? 
 

Q85. If good will of a profession which is self generated is transferred, there will: 

A. Be capital gain B. Not be any capital gain 

C. Be a short-term capital gain D. Be long term capital gain 

Q85. 09& ए� +O>O �I _0?)$ �K -=0� 9}ृ�$ �I �� ?P, 
�$91$ �I �?$} ?P, $K - 

A. +ू?�I�? ि]m/ 9K�I B. �K� +ू?�I�? ि]m/ 09I� 9K�I 

C. 
ल㉍+�?िI0 +ू?�I ि]m/ 9K�I D. .I /�?िI0 +ू?�I ि]m/ 9K�I 
 

Q86. Exemption under section 54 is available to: 

A. All assessees B. Individuals only 

C. Individual + HUF. D. Indian Company 

Q86. }?1? 54 �O  $?$ �ू� �=?े䜂 �?o$ ?P - 

A. ?.I -0/?/91?I B. �O =ि }0]-? 

C. }0]-? + ��.0.ू�,. D. .?1?I0 �� +0I 
 

Q87. Loss from a speculation business of a particular year can be set off in the same year 
from: 

A. Profit and gains from any business B. Profit and gains from any business other than 

speculation business 

C. Income of speculation business D. Income from other source 

Q87. ��9} ==>O} ))}??1# =}? /े䜂 9्䴾? �?1K-?1 9O ?I� ??)) �K �9} ))}??1# =}? /े䜂 ))म⹍)-ल��$ 9O &>??0? �? 9�$? ?P - 

A. ��?I .I �?1K-?1 ?O ि?. �=� ि]m/ B. ?_? �?1K-?1 �K �K)�1 ��?I .I �?1K-?1 ?O ि?. �=� ि]m/ 

C. ?_? �?1K-?1 ?O �0 D. 
m0 ्䵨K? ?O �0 
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Q88. Education cess is leviable in case of - 

A. An individual and HUF B. A company assessee only 

C. All assessees D. Not taxable 

Q88. ->�? �+�1 �9 /?/लO /े䜂 ��??I-0K_0 ?K$? ?P - 

A. }0]-? ?-? ��.0ू.�,. B. �O =ि �� +0I -0/?/91?I 

C. ?.I -0/?/91?I D. �1 0K_0 09I� 
 

Q89. A country is said to be in debt if : 

A. It has to abide by the conditionalities imposed 

by the international monetary fund. 

B. It has to borrow to make interest payments on 

outstanding loans. 

C. It has been refused loans or aid by creditors 

abroad. 

D. The World Bank charges a very high rate of 

interest on outstanding as well as new loans. 

Q89. ए� &O> �K �}?1्䵇-$ �?? �?$? ?P 09& : 

A. �?O 
�?1?/�रI0 �/-/� -0// द♍=?1? 
//1K=+? >?ो䬂 �? 
+?ि0 �10? +)?? 9P । 

B. �?O -�?0? �+ो䬂 +1 m0?� �? .I�??0 �10O �O  ;ि� �/?1 
िO0? +)?? 9P । 

C. �?O ==.O> ]}-? िO0.?1ो䬂 द♍=?1? �+ 0? �/-/� ?9?0?? .O0O 
?O 
}=I�?1 ��0? �0? 9P । 

D. ==�= -ै䠂� 0� �+ो䬂 �O  ??--??- -�?0? 1?;> +1 m0?� �I 

m0//� .1 ्䵚.?91? �1?? 9P । 

 

Q90. Which one of the following is responsible for the preparation and presentation of 

Union Budget to the Parliament? 

A. Department of Revenue B. Department of Economic Affairs 

C. Department of Financial Services D. Department of Expenditure 

Q90. 9�9& �K �O =रI0 -�� $P0?1 �1)O �1 �9O �-$I$ �1)O �O  -लए �)/े䜂 9O �L) �त⑍$1&?0} ?P? 

A. 1?�}= ==.?� B. �/-/� �?0/ ==.?� 

C. ==m?I0 ?O=? ==.?� D. }00 ==.?� 

 

Q91. Which one of the following statements is an appropriate description of deflation? 

A. It is a sudden fall in the value of a currency 

against other currencies. 

B. It is a persistent recession in both the financial 

and real sectors of the economy. 

C. It is a persistent fall in the general price level 

of goods and services. 

D. It is a fall in the rate of inflation over a period 

of time. 
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Q91. �)/े䜂 9O �L) 9? �%) 
=-,I)$ �I ���$ }0?_0? �1$? ?P ? 

A. 09 
m0 /I्䵖?�� �O  ?/� /I्䵖? �O  /लू㉍0 /े䜂 ��]}/� 

/�1?=� 9P । 
B. 09 
-/-}0=}-? �O  ==m?I0 �1 =?}?==� .K0ो䬂 �O्䵔ो䬂 /े䜂 
-01�?1 /�.I 9P । 

C. 09 /?ि �1 ?O=?�ँ �O  ??/?m0 �I/? }?1 /े䜂 -01�?1 
/�1?=� 9P । 

D. 09 ?/0?=// /े䜂 /I्䵖?},I-? �I .1 /े䜂 /�1?=� 9P । 

 

Q92. A great deal of Foreign Direct Investment (FDI) to India comes from Mauritius than 
from many major and mature economies like UK and France. Why? 

A. India has double taxation avoidance agreement 

with Mauritius. 

B. India has preference for certain countries as 

regards receiving FDI. 

C. Most citizens of Mauritius have ethnic identity 

with India so they feel secure to invest in India. 

D. Impending dangers of global climatic change 

prompt Mauritius to make huge investments in 

India. 

Q92. .?1$ /े䜂 
त⑍0�}� ==&O>} �त⑍0� ))=O> (ए,.!}.��.) 0ू.�O . �1 o?�9 �P9} 
)O� �/I� $%? +91+]= 
%?-}0=-%?�� 
�I $Iल)? /े䜂 /I1I>9 �P9O &O> द♍=?1? ��0? �?$? ?P, ]0ो䬂? 

A. .?1? �? /I1I>? �O  ??- .K91? �1?/?0 -0=?1+ �1?1 9P । B. �,.!I.��. ्䵚?o? �10O �O  ?�-�/ /े䜂 .?1? /े䜂 �I �O� .O>ो䬂 �O  
??- ्䵚?-;/�?? -0/?/91? 9P । 

C. /I1I>? �O  
//�?�> 0?�91�ो䬂 �? .?1? �O  ??- ??�}�ृ-?� 

?�-�/ 9P, �?;ि� =O .?1? /े䜂 -0=O> �10? ?I1्䵌�? ?/�?O 9ै䠂 । 
D. =P]�=� �ि=?0I +91=?/0 �O  �?m0 �?1ो䬂 0O /I1I>? �K 
.?1? /े䜂 -)O -0=O> �10O �O  ;ि� ?m+1 -0?0? । 

 

Q93. The reduction in Personal Disposable Income which results from tax rates not being 
adjusted for inflation. It is termed as: 

A. Fiscal Illusion B. Fiscal Crisis 

C. Fiscal Drag D. Fiscal Rectitude 

Q93. ))�} �/? �1)O 0K_0 �0 /े䜂 ��L$} �K /Iर?-,I)$ �O  -लए 9/?0K}�$ ) ��ए �ए �1 &1ो䬂 9O +91#?-/$ ?K$} ?P, �9O �?? 
�?$? ?P - 

A. ==m?I0 }/ B. ==m?I0 ?��� 

C. ==m?I0 �?/+ D. ==m?I0 �/?0.?1I 
 

Q94. Open Market Operations of RBI relates to: 

A. Bank rate proposed for public deposits B. Bank rates proposed for commercial banks 

C. Government reserves D. Government Securities 
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Q94. �1.-}.��. �O  �IलO -?ज?1 �O  ��?ल) �99O 9�-��}$ ?ै䠂 - 

A. ??=/�-0� �/?�� �O  ;ि� ्䵚}??==? -ै䠂� .1े䜂 B. =?�+]जᱍ0� -ै䠂�ो䬂 �O  ;ि� ्䵚}??==? -ै䠂� .1े䜂 

C. ?1�?1I ्䵚?1�+ D. ?1�?1I ्䵚-?.-ू?0?? 
 

Q95. Which one of the following is not permissible under India's current account 

convertibility? 

A. Residents holding foreign exchange accounts. B. Foreigners holding accounts in Indian banks. 

C. Exports holding foreign currency accounts. D. Free movements of short term capital. 

Q95. .?1$ �I �?ल ू�?$? +91=$?)}0$? �O  $?$ �)/े䜂 9O ��9�I -=}�?0?$? )?I� ?P? 

A. -0=??I �K ==.O>I ==-0/0 �??O /?91? �1?O 9ै䠂 । B. ==.O>I ]�0�O  .?1?I0 -ै䠂�ो䬂 /े䜂 �??O 9ै䠂 । 

C. -00?/? �9?? ==.O>I /I्䵖? �??O 9ै䠂 । D. 
ल㉍+�?िI0 +ू?�I �? /I-? ?��ि0 । 
 

Q96. Which one of the following is generally regarded as true index of economic growth? 

A. An increase in National Income at constant 

prices during a year. 

B. A sustained increase in real per-capita income. 

C. An increase in National Income at current 

prices over time. 

D. An increase in National Income along with 

increase in population. 

Q96. �)/े䜂 9O ��9O 9?/?=0$: ��%?� ==�?9 �? 9चᩍ�? 9ू��?�� /?)? �?$? ?P? 

A. =?/ �O  .L1?0 ]}-1 �I/?ो䬂 +1 1?�रI0 �0 /े䜂 -*Km?1I । B. =?}?==� ्䵚-? }0]-? �0 /े䜂 -0=/90I0 -*Km?1I । 

C. ?/0 �O  .L1?0 =?//?0 �I/?ो䬂 +1 1?�रI0 �0 /े䜂 -*Km?1I 
। 

D. �0?�_0? /े䜂 -*Km?1I �O  ??--??- 1?�रI0 �0 /े䜂 -*Km?1I 
। 

 

Q97. Which of the following is correctly matched? 

A. M1 and M2 - Broad Money B. M3 and M4 - Narrow Money 

C. M3 - Least commonly used measure of money 

supply 

D. M4 - Least liquid of all the money measures 

Q97. �)/े䜂 9O ��9 ==�ल㉍+ �? 9�-�} ���$ ?P? 

A. �/.1 �1 �/.2 - }0?+� /0 B. �/.3 �1 �/.4 - ?��I+/ /0 

C. �/.3 - /0 +-ू? / �? �/ ?L1 +1 �/ �}?O/?ि ��� �?0O 
=?िO �+?0 

D. �/.4 - /0 ?�-�/I ?.I �+?0ो䬂 �I ?-?O �/ ?1ि?? 
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Q98. Depreciation accounting other than natural resources, wasting assets, expenditure on 

research & development, goodwill and livestock; is dealt by which among the following 
Accounting Standards (AS)? 

A. AS 6 B. AS 12 

C. AS 15 D. AS 9 

Q98. �?�ृ)$� 9�9?})ो䬂 �O  
ल?=? /ूल㉍0्䵩?9 �? लO�?��), +919�+}त⑍$0ो䬂 �? &Iरぁ+0K�, 
)I9�}?) ए=� ==�?9 +1 }00, 9I)?/ ए=� 
+>I}); �)/े䜂 9O ��9 लO�? /?)� (ए.ए9) 9O 9�-��}$ ?ै䠂 ? 

A. � �? 6 B. � �? 12 

C. � �? 15 D. � �? 9 

 

Q99. The alternative that would decrease the contribution margin per unit at the most is a 
20% ________. 

A. decrease in selling price B. increase in variable costs 

C. increase in selling price D. decrease in variable costs 

Q99. ==�ल㉍+ �K 
�>&?) /?}�?) �)$ 0ू))� �K 
�}� 9O 
�}� �/ �1O�?, 20% ________ ?P । 

A. ==र0 /लू㉍0 /े䜂 �/I B. +91=?ी ि?�?ो䬂 /े䜂 ==ृo 

C. ==र0 /लू㉍0 /े䜂 ==ृo D. +91=?ी ि?�?ो䬂 /े䜂 �/I 
 

Q100. Which of the following is an important dynamic variable? 

A. Superior's style and behaviour B. Organisational nature 

C. The task structure D. Cultural variables 

Q100. �)/े䜂 9O �L) 9? ==�ल㉍+ ए� /?त⑍=+ू#? �)$>}ल +91=$? ?P? 

A. �चᩍ�?//�?910ो䬂 �I >PिI �1 }0=9?1 B. ?�� 0?m/� ?�}�ृ-? 

C. �?0/ ?�1�0? D. ??�}�ृ-?� +91=?/ 
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